\_\_\_\_ JOURNAL of

# MARKETING RESEARCH

## **Default Effects of Credit Card Minimum Payments**

Journal:	Journal of Marketing Research
Manuscript ID	JMR.18.0345.R5
Manuscript Type:	Revised Submission
Topics and Methods:	Soc/Cognitive Psychology < Theoretical Foundation, Behavioral Economics < Theoretical Foundation, Consumer behavior < Theoretical Foundation, Natural experiments < Method of discovery, Time series < Method of discovery, Public policy, legal < Substantive area

SCHOLARONE<sup>™</sup> Manuscripts

# Default Effects of Credit Card Minimum Payments

Hiroaki Sakaguchi<sup>1</sup>, Neil Stewart<sup>2</sup>, John Gathergood<sup>3</sup>, Paul Adams<sup>4</sup>, Benedict Guttman-Kenney<sup>5</sup>, Lucy Hayes<sup>6</sup>, and Stefan Hunt<sup>7</sup>

<sup>1</sup>Department of Psychology, University of Warwick
 <sup>2</sup>Warwick Business School, University of Warwick
 <sup>3</sup>Department of Economics, Nottingham University
 <sup>5</sup>Booth School of Business, University of Chicago
 <sup>6</sup>Financial Conduct Authority
 <sup>7</sup>Competition & Markets Authority

October 27, 2021

#### Abstract

Credit card minimum payments are designed to ensure that individuals pay down their debt over time, and scheduling minimum automatic repayments helps to avoid forgetting to repay. Yet minimum payments have additional, unintended psychological default effects by drawing attention away from the card balance due. First, once individuals set the minimum automatic repayment as the default, they then neglect to make the occasional larger repayments they made previously. As a result, individuals incur considerably more credit card interest than late payment fees avoided. Using detailed transaction data, the authors show that approximately 8% of all of the interest ever paid is due to this effect. Second, manual credit card payments are lower when individuals are prompted with minimum payment information. Two new interventions to mitigate this effect are tested in an experiment, prompting full repayment and prompting those repaying little to pay more, with large counter effects. Hence, shrouding the minimum payment option for automatic and manual payments and directing attention to the full balance may remedy these unintended effects.

keywords: default; inattention; automatic repayment; credit card; consumer debt

<sup>&</sup>lt;sup>0</sup>Corresponding author: Prof. Neil Stewart, Warwick Business School, University of Warwick, Coventry, CV4 7AL, UK. +44 24 7652 2456. neil.stewart@wbs.ac.uk

The authors thank David Laibson and Nick Lee for comments and discussion.

This research was funded by Economic and Social Research Council grants ES/N018192/1, ES/K002201/1, ES/P008976/1, and ES/V004867/1, and Leverhulme Trust grant RP2012-V-022. Sakaguchi acknowledges PhD studentship 1499648 from the Economic and Social Research Council.

This research was conducted while Adams, Guttman-Kenney, Hayes and Hunt were employees of the Financial Conduct Authority. The views and opinions expressed here are those of the authors and do not necessarily reflect the views of the Financial Conduct Authority, Competition & Markets Authority, their affiliates, or their employees.

Default options are frequently presented to individuals across a broad set of contexts and varying financial stakes, including in the domains of organ donation, retirement saving, charitable donations and energy efficiency. Typically, defaults are applied either automatically or as a prompt to action. How do defaults affect individual actions in practice, and do they work as intended? We examine this question using a ubiquitous example of a default payment option — the credit card minimum payment. Designed to protect consumers from spiralling debts and ensure that credit card companies receive a flow of payments, credit card minimum payments are designed to suppress levels of debt and, in the case of automatic minimum payments, provide a form of insurance against forgetting to pay. Other examples of default automatic payments include standard repayments for mortgages and cell phone bills. Other examples of default prompted payments include suggested tip amounts for cabs and restaurants (Haggag and Paci, 2014).

Analyzing the default effects of minimum payments is important both for understanding the effects of defaults and for consumer protection in the credit card market. Credit card holders can choose from a range of levels of repayment, such as the full balance on their credit card, a fixed sum of money, or the minimum payment due. They can choose to make payments manually each month, or set up an automatic payment (with the option to manually pay more on top each month). The minimum payment is typically a small fraction of the balance, plus fees and interest. If choosing automatic minimum payments, the card provider automatically debits the card holder's checking account with the minimum due each month.

Understanding the consequences of minimum payment choices for repayment behavior is an important policy issue. Financial media outlets regularly warn their readerships against persistently paying only the minimum payment due (e.g., Nerdwallet's online calculator of the excess interest arising due to making only the minimum payment – CNBC 2018). Moreover, credit card borrowing is the main form of unsecured borrowing by consumers in the United States. Credit card debt in the United States exceeds \$900bn (Federal Reserve Bank of New York Consumer Credit Panel / Equifax, 2019), having grown steadily over the past decade following a decline during the 2007-2009 Great Recession. Most households are affected, with average household credit card debt of approximately \$6,300 (Federal Reserve Survey of

#### Consumer Finances, 2019).

In this paper we use credit card-level transaction data and an online experiment to study the default effects of minimum payments. In particular, we investigate the unintended consequences of minimum payments. While in theory minimum payments reduce the level of debt, and automatic minimum payments minimise forgetting, in practice there may be unintended outcomes. For example, while minimum automatic repayments reduce missed payments as consumers do not need to remember to repay, an unintended affect may be lower average payments due to consumers not paying attention to the balance (which might prompt them to make larger payments). In this way, understanding effects across multiple outcomes (in this case missed and average payments) is critical to both for evaluate how and whether defaults work, and for policy recommendations. In the presence of unintended consequences, the positive effects of this default in theory may not be seen in practice.

Our first main contribution is to show that the default effect of credit card minimum automatic payments has an unintended consequence of higher interest payments. We use a field study of credit card transaction data to study what happens when consumers switch to automatic repayments. We estimate causal effects using two identification methods: (i) a difference-in-differences design utilizing a matched control group (e.g., Fisher, Gallino, and Xu, 2019; Gill, Sridhar, and Grewal, 2017) and (ii) an instrumental variables analysis exploiting peer effects in the adoption of minimum automatic repayment (e.g., Rutz, Bucklin, and Sonnier, 2012; Shi, Grewal, and Sridhar, 2021). Our results show that, while reducing the probability of missed payments to near-zero, default minimum automatic payments also reduce overall payments (by approximately 40%). This thereby causes higher revolving balances, and higher interest costs. We simulate the magnitude of this effect and show that it is large. The simulations show that cards using minimum automatic repayments at least once in the data period could save about 19.8% of interest and fees if they did not switch to minimum automatic repayment. This is about 8.4% of the all interest and fees paid in the credit card market.

Our second main contribution is to test new remedies to overcome the default effect of presenting the credit card minimum payment. Using an experimental study, we replicate the existing finding that merely presenting minimum payment information to card holders whilst

they choose a level of manual repayment is also detrimental, reducing average repayments by 16% and causing the distribution of payments to be bunched at or just above the minimum. Presenting the minimum payment as a default, implicit repayment amount appears to anchor the manual repayment decision upon the minimum payment. We test two new remedies, both of which have large effects. First, we find that prompting people to pay in full increases average repayments by 24% - without crowding out the effect of removing the minimum payment anchor (a result we replicated from prior studies). Second, we find that, when low payment prompts are provided only to people who would had initially chosen to pay the minimum or an amount close to it, these people are then more than twice as likely than not to revise their repayments choice to a higher amount. Hence, our results show that interventions can work to override the default effect. This finding may be applicable in other contexts in which a default option delivers benefits, but unintended consequences require mitigations to ensure that adverse outcomes are avoided. 4.

#### Effects of defaults

Psychological theories suggest that a default option has a large probability of being chosen because of people's cognitive laziness or status quo bias (Johnson and Goldstein, 2003). A large literature assumes that default options can be used to the benefit of consumers. This literature has achieved significant policy impact, in a wide variety of domains including organ donation, retirement saving, energy efficiency and web marketing. Jachimowicz, Duncan, Weber et al. (2019) provide a meta analysis of 58 published studies. However, while more than 45 of these studies identify positive effects from defaults in the outcomes observed (with only 4 estimating negative effects), the authors find a wide range of effect sizes.

In addition, studies which focus on target outcomes (in our example, whether an individual missed a credit card repayment) might omit important other outcomes, especially those which exhibit unintended consequences (in our example, reduced average repayment). Hence, while a particular default might in theory achieve a *proximate* outcome indicating success, the *distal* effects of the default include unintended consequences which could potentially render the net effect of the default harmful (Guttman-Kenney, Adams, Hunt et al., 2021).

We summarize the findings from previous studies, including evidence of potential downsides

Page 5 of 76

of default options, in Table 1 (see Jachimowicz, Duncan, Weber et al. (2019) for more details). For example, studies of automatic enrolment into retirement saving using pension contribution data from US employers show that the introduction of automatic enrolment increases pension coverage among employees. However, automatic enrolment to a default level of saving can reduce savings rates for employees who would otherwise have saved at a higher rate when making an active choice (Choi, Laibson, Madrian et al., 2001), reduce saving by other means, and increase the level of indebtedness held by consumers (Beshears, Choi, Laibson et al., 2019). Hence it is not clear whether auto-enrolment increases the overall level of saving (which is the key objective of the policy). Hence, in a variety of settings, there is a need to understand the full effects of defaults and how to mitigate against potential downsides of default options.

#### Defaults in the credit card market

A large number of studies have focused on default effects in the credit card market. Attention to this issue has been drawn both by the magnitude of credit card debt, and therefore importance of regulatory policy regarding minimum payments, but also due to the availability of objective, high frequency credit card records providing data on a variety of outcomes. This makes the credit card market a promising test-bed for evaluating defaults and informing policy design, especially as policy changes result in fast feedback compared with other settings (such as organ donation and retirement saving).

Findings from these studies are summarised in Table 2. A first set of studies has focused on whether default information disclosures help to stimulate higher payments. For example, Agarwal, Chomsisenghpet, Mahoney et al. (2015) find, in mass transaction data, that including the minimum level of repayment required to clear debt in 3 years by default, as mandated by the US CARD Act, had no overall effect on repayments. Studies from Mexico (Seira, Elizondo, and Laguna-Müggenburg, 2017) and the UK (Adams, Guttman-Kenney, Hayes et al., 2021) show similar ineffectiveness of informational nudges. A second set of studies has focused on whether shrouding the minimum payment on credit card statements and/or online payment journeys (for example, by either removing the minimum payment completing, or only showing the minimum payment when the card holder attempts to pay below the minimum payment due) might help to increase payments.Showing the level of minimum payments may reduce attention to balances, which might also interact with present-biased preferences (O'Donoghue and Rabin, 1999). The minimum payment may also act as an anchor. It is well known that an anchor value selected by an experimenter causes the participant's subsequent estimation to biased towards the anchor (Tversky and Kahneman, 1974). Theoretical explanations vary from insufficient adjustment from the anchor (Tversky and Kahneman, 1974). Theoretical explanations vary from 2001, 2006), numerical priming (Jacowitz and Kahneman, 1995; Wong and Kwong, 2000), selective availability and semantic priming of information during hypothesis testing (Chapman and Johnson, 1994; Mussweiler and Strack, 1999, 2001), elaboration (Wegener, Petty, Blankenship et al., 2010), and scale distortion (Frederick and Mochon, 2012) — an overlapping and non-exhaustive list. Even arbitrary numbers affect choices, such as using the last few digits of a phone number (Russo and Shoemaker, 1989) or social security number (Ariely, Loewenstein, and Prelec, 2003).

Our study complements the existing literature by studying the unintended consequences of minimum payments, exploring whether the forms of unintended consequence seen in the domains described in Table 1 might also exist in the credit card market. If such unintended consequences exist, there is a rationale for mitigating actions to preserve the positive impact of the default while mitigating the unintended negative consequences. We explore examples of this in the experimental study which follows.

#### FIELD DATA STUDY: AUTOMATIC MINIMUM PAYMENTS

In this first study, we explore the effects on repayments of switching to a default minimum automatic repayment.

#### **Empirical Approach**

Our empirical approach uses card-level data for a large sample of UK card holders. Assignment to a default minimum automatic repayment is non-random, so we therefore use quasi-experimental methods. We first use a difference-in-differences approach based upon a matched sample of non-treated cards. We also use an instrumental variable approach, exploiting peer effects in the adoption of default minimum automatic repayment. These methods yield consistent results.

#### Data and Sampling

*Data source.* The data were provided by UK credit card issuers, who together account for 40% of the UK credit card market by number of cards. Credit card products in the UK resemble those in the US, with many US credit card issuers active in the UK market. The distributions of credit card spending, balances and payments in UK (Financial Conduct Authority, 2016) and US data (Keys and Wang, 2019) are similar to one another. In addition, repayment patterns found in UK data (Gathergood, Mahoney, Stewart et al., 2019b) have replicated in US data (Gathergood, Mahoney, Stewart et al., 2019b) have replicated by Argus Information & Advisory Services in collaboration with the UK Cards Association, without constraint on the research agenda. Card holders and issuers are not identified in the data we received. The data are a 10% random sample of all UK consumers who held a credit card during January 2013 to December 2014 within Argus's database, which covers nearly 100% of UK card holders.

Complete R source code is available for all steps from importing the data exported from Argus to the statistics, tables, and figures in this paper. We are retaining the data for 10 years. Data are proprietary but are available for replication on a local computer.

*Data cleaning.* The cleaned data include card identifiers, balances, required minimum amounts, purchase amounts, purchase types, repayment amounts, and various types of fees and finance charges. The unit of observation in the sample is a card-month. Repayments appear on the statement date for the month after the statement containing the balance. For example, repayments reported in December 2014 statements were made against the bill showing the balance and the required minimum in November 2014. Because no repayment data are available for January 2015, repayments for balances in December 2014 are unknown. Thus, the data provide at maximum 23 balance-repayment observations per card from January 2013 to November 2014. Automatic payment was available as a repayment option for all cards throughout the data period.

The data include records of minimum payment amounts due, together with a record of whether the payment was made manually or automatically. The minimum amount card holders must pay each month is, in the UK, normally interest and fees accrued within the month plus 1% of the card balance, or a fixed sum (typically £5 or £25) whichever is the greater. As long as the card-holder pays at least the minimum payment they will be in good standing with the card issuer and avoid a late payment fee or other costs such as additional interest costs on balances in arrears and missed payments being recorded on their credit file. Making a repayment of at least the monthly accrued interest ensures that the value of the debt does not grow. Additionally, repaying 1% of the balance implies that over time the debt will be repaid, though the pay-down horizon is typically many years. Automatic repayments are made by a mechanism known as "Direct Debit". Direct Debit is an extremely common method for paying bills in the UK, and has growing coverage in the US, where it has been introduced more recently and is variously known as "AutoPay" or "automatic repayment".

*Sample restrictions.* We applied a number of sample restrictions to create a baseline sample for analysis. First, we excluded cards which were closed or charged-off during the data period. Second, we excluded cards having a balance transfer and those having a zero merchant APR for part of the data period, as balances on these cards do not accrue interest. (Cards were treated as having a balance transfer when an aggregation of the beginning balance and all transaction amounts within a month including purchases, cash advances, fees, finance charges, and repayments differ from the end of the month balance by  $\pounds 10$  or more.) Third, we excluded a small number of cards with unidentified transactions. Fourth, we restricted the sample to extracted card-months with a positive balance due.

#### **Illustrative Results**

*Finding 1: Switching to automatic payment is common, especially automatic minimum payment.* Over one-third of cards in the sample pay by automatic payment, with this share increasing over time. In the sample, 5% of cards switched to automatic repayment during the sample period. Switching back to manual payment is a rare event. If manual payment is made ahead of the automatic payment date, the automatic payment is not taken. Given card holders can pre-pay in this way, the benefits to cancelling an autopay instruction are small. 29% are already paying by automatic payment from the start of the sample period. The remaining 66% using manual payment throughout the period.

We classify cards switching to automatic payment into three types by the level of payment:

Page 9 of 76

the minimum payment, a fixed monetary value between the minimum and full payment, and the full payment. Table 3 presents a breakdown of switches to different automatic repayment types. Among all cards switching during the data period, we observe 46.7% switching to a minimum automatic repayment. For approximately 15% of card we cannot identify the repayment type. For example, we cannot identify the automatic repayment policy for cards whose balance is sufficiently small in all months that the minimum payment required is sufficient to clear the balance. Such cards could be set to repay the full balance, for example, but with the full balance being equal to the minimum payment we cannot determine the repayment policy from observed payment behavior.

Table 4 shows card-month level descriptive statistics for account terms and card usage before and after switching for the sample of switchers. These indicate that switching does not appear on average to be associated with large changes in account terms (such as APR or credit limit). In additional analysis using linked geodata we find there are socio-economic differences between those switching to full automatic repayments and those switching to minimum automatic repayments (full results in Web Appendix table W1).

*Finding 2: Missed payments drop after switching to automatic minimum payment.* Figure 1 illustrates the proportion of payments before and after switching to automatic minimum payment. The categories shown are missed (i.e., payment below the minimum payment due), minimum, large (a payment between minimum and full) and full. Note that the figure shows their total actual payments made rather than their automatic payment amount. For example, an individual might have an automatic minimum payment but choose to pay a larger amount, or full amount. The leftmost bars show that after switching the proportion of missed payments falls from approximately 12% per month to 1% per month. Missed payments are not completely eliminated because the account holder may have insufficient funds in the checking account from which the automatic payment is being drawn. This large reduction in missed payments shows the benefit of automatic payment.

*Finding 3: Switching to automatic minimum payment reduces large and full payments.*. The bars on the right-hand side of Figure 1 illustrate that after switching the proportion of large and full payments drops (from approximately 40% to 10%, and 29% to 25% respectively).

This is due to a large increase in the proportion of minimum payments, which increases from approximately 19% to 52%. This reduction in large and full payments shows the effect of individuals choosing automatic minimum payments as the default no-action outcome, and not making manual payments to the same value as they made before switching. This is the potential downside of automatic minimum payments, as it implies higher revolving balances and therefore excess interest charges.

#### **Difference-in-Differences Estimates**

*Identification Strategy.* The illustrative results presented suggest that switching to minimum automatic repayments leads to reduced payments due to card holders being much less likely to make additional payments over the minimum. This result is descriptive. Ideally to test the causal effect of the treatment (switching to minimum automatic repayment) on the outcome variable (level of repayment) we might like to exploit a randomised-control trial or naturally occurring experiment. However, in reality switching is likely to be non-random, and might be correlated with an intention to pay less in future, an omitted variable which could generate endogeneity bias. In such a scenario, payments would have decreased even absent the switch to the automatic minimum payment as default. We therefore need an empirical approach to determine the casual effect of automatic minimum repayment on repayment behavior.

To address this, we utilise a difference-in-differences model and, separately, an instrumental variable model. Both of these methodologies are well-established in the marketing literature (e.g. Chevalier and Mayzlin, 2006; Fisher, Gallino, and Xu, 2019; Gill, Sridhar, and Grewal, 2017; Rutz, Bucklin, and Sonnier, 2012; Shi, Grewal, and Sridhar, 2021). The difference-in-differences approach is to estimate the effect of minimum automatic repayments on payment behavior by introducing a control group whose payment behavior is used as a counterfactual for the switching group (i.e., what would have happened in the absence of the switch). This approach compares the change in repayments of the treatment group (those switching) with the change in repayment of a control group of non-switchers. The general form of the econometric equation to be estimated is given by:

 $Repayment_{i,t} = \beta_1 + \beta_2 Switcher_i + \beta_3^T D_{i,t} + \beta_4^T Switcher_i \times D_{i,t} + \epsilon_{1,i,t}$ 

in which the outcome variable is the level of repayment by individual i in month t, Switcher<sub>i</sub> is a dummy variable whose coefficient captures level differences in repayment between switchers and non-switchers,  $D_{i,t}$  is a dummy variable whose coefficient captures level differences in repayment before and after the month individual i switches, and the coefficient for the interaction between the two captures the difference in the change in repayments across the switching and non-switching groups given by  $\beta_4^T$ . This general model relies upon the assumption that the treatment and control groups have common trends in repayment, and that no other confounding change which might differentially affect repayment by the treatment and control group occurs at the same time as the treatment.

In our setting, estimation of the difference-in-difference model is complicated by two factors. First, we observe repayments only for individuals in months when card holders make a repayment (i.e. non-missed payments). As seen in Figure 1, some card holders miss payments in months both before and after adoption of automatic minimum payment. Second, we do not have a naturally occurring control group. We address the first issue using a first-stage equation to model repayment (using a single-hurdle model exploiting card tenure as an exclusion restriction) and address the second issue through construction of a control group using matching methods.

*Single hurdle difference-in-differences model specification.* Given that switching to minimum automatic repayments greatly affects the likelihood of a missed payment, our econometric model needs to account for whether a payment is made. One option could be to omit observations of missed payments from the analysis altogether (see later robustness tests), however this approach reduces the sample size and fails to account for the existence of missed payments.

We therefore use a single-hurdle selection model (Cragg, 1971) (implemented in R using the code provided by Carlevaro, Croissant, and Hoareau (2009)) to model missed payments. The model includes a single hurdle of a repayment being made (i.e., not-missed) before card holders making a "choice" of a positive repayment value. As an exclusion restriction we draw upon card tenure, exploiting the tendency of missed payments to reduce with card tenure due to a tendency of cardholders to forget to repay their cards when first issued, a feature of credit card repayments we document and explore in a recent paper (Gathergood, Sakaguchi, Stewart et al., 2021). This provides an arguably exogenous source of variation in missed payments.

In the model,  $I_{i,t}$  is an indicator having a value of 0 if the card holder i misses the repayment in month t, otherwise 1. Using the probit model, the first component of our model estimates the probability of not-missing a repayment through a latent dependent variable,  $P(I_{i,t} = 1) =$  $P(\text{Repayment}_{1,i,t}^* > 0)$ . Note that the superscript \* for  $\text{Repayment}_{1,i,t}^*$  indicates latent repayment. The subscript of 1 for  $\text{Repayment}_{1,i,t}^*$  indicates the first component of the model, the choice over missed or not-missed. Similarly, the subscript 2 for  $\text{Repayment}_{2,i,t}^*$  used below indicates the second component of the model, the level of payment conditional on not missing a payment.

The first equation, for missed or not-missed payment, is given by:

$$\begin{split} \text{Repayment}_{1,i,t}^* &= \beta_0 + \beta_1 \text{Switcher}_i + \beta_2^T \text{D}_{i,t} + \beta_3^T \text{Switcher}_i \times \text{D}_{i,t} + \beta_4 \text{Tenure}_{i,t} + \beta_5^T x_{i,t} + \varepsilon_{1,i,t} \\ P(\text{I}_{i,t} = 1) &= P(\text{Repayment}_{1,i,t}^* > 0), \end{split}$$

where Switcher<sub>i</sub> is a dichotomous variable having a value of 1 if the card i switches to a minimum automatic repayment, otherwise 0.  $D_{i,t}$  is a vector of dummies specifying months from switch (11 levels from -5 to 5). Tenure<sub>i,t</sub> is card tenure in years.  $x_{i,t}$  is a vector of covariates including balance, utilization, spending amount, merchant APR, cash APR, and charge-off rate (all are month-card level variables). The error term,  $\varepsilon_{1,i,t}$ , is assumed to be normally distributed.

The second stage of the model estimates the differences in differences model (the general form of which is shown above) where the outcome is the repayment amount  $\operatorname{Repayment}_{2,i,t}^*$ , and given by:

$$Repayment_{2,i,t}^* = exp(\beta_6 + \beta_7 Switcher_i + \beta_8^T D_{i,t} + \beta_9^T Switcher_i \times D_{i,t} + \beta_{10}^T x_{i,t} + \varepsilon_{2,i,t})$$

where Switcher<sub>i</sub>,  $D_{i,t}$  and  $x_{i,t}$  are defined as in the first regression. The error term,  $\varepsilon_{2,i,t}$ , is assumed to be normally distributed. In addition,  $\varepsilon_{1,i,t}$  and  $\varepsilon_{2,i,t}$  are assumed to be uncorrelated.

The above first and second components of the model are jointly estimated on observed monthly repayment amounts, Repayment<sub>i,t</sub>.

$$Repayment_{i,t} = I_{i,t} \times Repayment_{2,i,t}^*$$

*Control group design.* We construct the control group by using matching methods to select a set of non-switching cards that have very similar characteristics to the switching cards in the pre-switch time period. The implicit assumption in this design is that the constructed control

group represents the counterfactual repayment behavior of switchers were they not to have switched to automatic repayments. Hence, any observed difference in post-switch repayments between the groups is attributable to the effects of switching to automatic repayment. This approach relies on the availability of a good match between treatment and control observations such that the two groups show common trends and characteristics in the outcome of interest. By constructing a control group to resemble the treated group, this matched differences in differences approach estimates the average treatment effect on the treated (ATT) group of switchers.

Control group designs based upon matching methods have become widely applied in empirical research in economics and other disciplines (on which see Abadie (2021)), with Athey and Imbens (2017) arguing that they are "arguably the most important innovation in the policy evaluation literature in the last 15 years". Such control group designs offer "systematically more attractive comparisons" by creating improved control groups compared with standard difference-in-differences designs. Fisher, Gallino, and Xu (2019) and Gill, Sridhar, and Grewal (2017) provide recent examples of such methods in marketing.

The data we use provide repeated observations of the same individuals (i.e., time-series cross-sectional sample), and thus, the standard matching methods, which have been developed mostly for cross-sectional sample, may not be appropriate for our case. To overcome this issue, we follow a control group designed by Simmons and Hopkins (2005), together with the matching method formalized by Ho, Imai, King et al. (2011).

We first extracted card-months of switchers for the six month periods pre- and post- switch (total 12 months; we label theses as the treatment observations). For each card, we then take the average of the covariate values over card-months for the six months before the switch. The covariates used are card balance, utilization rate, spending amount, merchant APR, cash APR, charge-off rate, and card tenure. Second, to create a candidate sample for matches, we extract all consecutive six card-months of non-switchers and all consecutive six pre-switch card-months of switchers which do not overlap to the treatment observations. (We follow Simmons and Hopkins (2005) where the effect of countries signing to an international agreement (treatment effect) is studied. They define treatment observations as country-years taken from

signer countries between 4 year before the signatory and 1 year after that (i.e., 6 country-years for each signer country), and then, define the universe of possible control cases as all continuous 6-year country-periods of both signer and non-signer countries, except signers' country-years which overlap with the treatment observations.) Then, the covariate values within those six card-months are averaged. This procedure reduces the treatment and control observations to a single data point per covariate. We then apply matching to these observations.

After the above transformation of the data, we conducted one-to-one nearest neighbor matching between switchers and candidate cards based on the Mahalanobis distance in the averaged covariates. The result is that each switching card has one matched control card which is very similar in its six month average of covariate values. Finally, post-switch card-months of switchers and subsequent six months following the candidate observations of the matched control group were combined to the matched pre-switch observations. As a consequence, the matched data for analysis include 12 consecutive card-months of each card which consist of six months pre-switch and six months post-switch observations. As a result, treatment group includes 3,311 cards and control group includes 3,239 cards. (Note that some cards in control group match to multiple cards in treatment group.) Both groups have 39,732 card-month observations, equally split between pre- and post-switch periods.

*Results.* Table 5 compares pre-switch average card profiles between two groups, indicating that the matching created a well-matched control group with similar pre-switch card profiles to those of switchers. (p-values were taken from the bootstrap Kolmogorov-Smirnov test.)

Web Appendix D also shows the matching exercise produces switching and control groups which are closely matched by socio-economic characteristics (Table W4) and by pre-switch monthly balances (Figure W5).

The main estimates from the single hurdle difference-in-differences are illustrated in Figure 2 which plots the coefficient estimates and 95% confidence intervals for Switcher×Months from Switch interactions for the dummies from five months before switching to minimum automatic repayment through to five months after the switch, shown on the x-axis.

Results indicate that the coefficient on the interaction term is at or close to zero for the months preceding the month of switch, indicating no difference in repayment levels prior to

the switch. At the switch month (month zero) the coefficient becomes negative and statistically significantly different from zero. The coefficients also show no trend upwards or downwards in the pre-switch period. This indicates a reduction in payments due to switching. The coefficient on the interaction terms for the subsequent months remains negative and statistically significantly different from zero in each month. Hence there is a precisely defined downwards effects of switching to minimum automatic repayments on the level of payment.

The coefficient estimates are shown in Table 6. Results from the first-stage regression are shown in the top panel. The coefficient on the tenure variable is positive, indicating that the probability of not missing a payment rises with tenure, as suggested found in previous studies. The coefficients for the interaction terms of switcher dummy and months from switch dummies are positive and precisely estimated for post-switch months, confirming the beneficial effect of automatic repayments eliminating a chance of forgetting a repayment.

Results from the second-stage regression are shown in the bottom on panel. The coefficients on the covariates indicate that the level of repayment increases with card balance and card spend in the preceding month, and decreases with utilisation, merchant and cash APRs, and the charge-off rate.

The coefficients for the interaction terms are negative and precisely estimated for all post-switch months, confirming the adverse effect of the minimum automatic repayment reducing ongoing repayments as observed in Figure 2. The coefficient values reange from -.65 in the first month after the switch, rising to -.36 after four months. A coefficient value of approximately -.4 for the post-switch interaction in the second element of the model implies that switchers reduce their payments by approximately 40%, which equates to on average  $\pounds$ 148 (evaluated against the baseline predicted level of repayment from the model).

#### Instrumental Variable Model

The instrumental variable approach uses an exogenous source of variation in the likelihood of treatment, which serves as an instrument to the treatment selection. This approach has the advantage that it introduces as-good-as-random variation in the likelihood of treatment, but has the challenge of needing to find an instrument that predicts treatment (here, switching) but is exogenous to the individual's repayment choice.

Here, we exploit geographic peer group switching rates as the instrument in a two-stage design. The rationale for this instrument is that the switching rate to automatic payments within an individual's peer group is likely to spill over to affect the individual's behavior through shared knowledge and social norms. Peer effects have been found to be important determinants of financial decisions in prior literature (e.g. Bursztyn, Ederer, Ferman et al., 2014; Bailey, Cao, Kuchler et al., 2018). In marketing, peers have been used as instruments to identify the effects of chief marketing officers on firm performance (Germann, Ebbes, and Grewal, 2015) and herding in spending disclosure decisions (Shi, Grewal, and Sridhar, 2021) (see Rossi, 2014, for an examination of instrumental variable approaches in marketing). We estimate the local average treatment effect (LATE) of peer effects induced switching on repayments using a two-stage least squares approach:

ares approach:  
Post-Switch<sub>i,t</sub> = 
$$\alpha_0 + \alpha_1^T W_{i,t} + \alpha_1 Switching-Rate_{t,p} + u_{i,t}$$
 (1)

$$\log(\text{Repayment}_{i,t}) = \beta_0 + \beta_1^T W_{i,t} + \beta_2 \text{Post-}\widehat{\text{Switch}}_{i,t} + \varepsilon_{i,t}$$
(2)

where Repayment by individual i in month t is modelled as a function of a set of covariates W which vary by individual and month (as in the earlier analysis, these include card balance, utilization rate, spending amount, merchant and cash APRs, and the charge-off rate) plus a dummy capturing whether the month is pre- or post-switch. This dummy variable is instrumented using a first stage regression in which the instrument is the switching rate in month t among the peer group, p. Here the peer group is defined as the postcode district of residence of the cardholder (UK postcode districts contain 25,000 residents on average). Both regression

contain the same set of covariates, W.

Results are reported in Table 7. In the first-stage regression, the coefficients on the covariates indicate that the likelihood of switching increases with the merchant APR and decreases with the cash APR, charge-off rate and level of spending. The coefficient on the instrument is positive (.950) and precisely defined with a standard error of .004, indicating a strong correlation between the switching rate in the locality and the likelihood of the card holder switching.

In the second stage regression the coefficients on the covariates show that repayments increase with the balance and spend, and decrease with the merchant and cash APR, the charge-off rate and account utilization. The coefficient on the instrumented post-switch variable is negative, taking a value of -.553. This is within the range of the post-switch coefficients from the difference-in-differences model, implying a 55% reduction in repayment arising due to the switch to automatic minimum payment.

#### **Robustness Tests**

*Conditional difference-in-differences model.* An alternative approach to modeling repayments in the difference-in-differences framework is to model only non-missed payments. While the single-hurdle selection model including missed payments is the preferred model, for comparison here we also present OLS estimates of the repayment equation. This is estimated on the subset of observations with a non-missed payment (67,475 observations, 92.1% of observations from the sample used in the single-hurdle selection model).

Results, shown in Web Appendix F, reveal the same pattern in the difference-in-differences coefficient estimates on the interaction term (Figure W7), with the estimated coefficient for the pre-switch months indicating no difference in repayment levels prior to the switch. At the switch month (month zero) the coefficient becomes negative and statistically significantly different from zero. This again indicates a reduction in payments due to switching. Coefficient estimates are reported in Table W5. The estimates from the OLS model are similar in magnitude to those from the single-hurdle selection model (the coefficient on the interaction term for month zero is -.67 in the OLS estimates compared with -.65 in the single-hurdle selection model estimates).

*Type II tobit model.* The single-hurdle selection model assumes independence in the error terms across the first-stage and second-stage equations,  $\varepsilon_{1,i,t}$  and  $\varepsilon_{2,i,t}$ . However, in practice the error terms may be correlated. To test the robustness of our results to this assumption of independence, we also present estimates from an exponential type II Tobit model, which assumes dependence of errors across equations. This model is estimated on the same sample of observations as the single-hurdle selection model.

Results, shown in Web Appendix G, again reveal the same pattern in the difference-in-differences coefficient estimates on the interaction term (Figure W8), with the estimated coefficient for the pre-switch months once again indicating no difference in repayment levels prior to the switch. At the switch month (month zero) the coefficient becomes negative and statistically significantly different from zero. This again indicates a reduction in payments due to switching. Coefficient estimates are reported in Table W6. The coefficient on the interaction term for month zero is again of similar magnitude in the Type II Tobit model estimates (-.78) to that in the single-hurdle selection model estimates (-.65).

Lender-induced switching sample. As an additional robustness test, we exploit a feature of lenders' account management practices that arguably introduces a degree of exogeneity in switching for a subset of accounts. Specifically, we focus on a subsample of accounts where lenders are more likely to have played a role in setting-up minimum automatic repayments via offering refunds to customers to induce them to switch to automatic payment. Results from this analysis, which are included in Appendix E, are consistent with our main results for the effects on levels of repayment of switching to automatic minimum payment.

#### **Excess Interest Cost Simulations**

We have used Monte Carlo simulation to estimate the financial cost arising from lower repayments among card holders switching to a minimum automatic repayment (see Web Appendix I for details). We also conducted a simulation estimating what proportion of total interest and fees incurred by all cards across the entire credit card market is due to minimum automatic repayments (detailed in Web Appendix J).

The simulation is implemented as follows. We assume two types of agents. The first type of agents never switch to automatic repayment (Remaining as Non-Auto Cards) while the second

type of agents switch to a minimum automatic repayment (Switching to Min-Auto Cards). To resemble real-life use of credit cards, the simulation assumes a steady continuation of purchases and repayments.

For both types of agents, we simulate their monthly card usages and repayments, using card-month observations of cards switching to minimum automatic repayments during the data period. At each time-step (i.e., month) in the simulation, a repayment category is drawn from the actual distributions in card-months with similar card profiles. The categories include "missed", "minimum" (with £10 buffer for rounding-up), and "full". Repayments in the actual distribution which are included in neither missed, minimum, nor full category were categorized as their own absolute value (e.g., 50.00, 100.00, 200.00). Repayments are capped at a corresponding full balance at the time-step. For Remaining as Non-Auto Cards, we use the pre-switch distribution while, for Switching to Min-Auto Cards, we use the post-switch distribution. Thus, in the simulations, Remaining as Non-Auto Cards are repaid as if card holders had not switched to a minimum automatic repayment. If an agent missed a repayment, a late payment fee was incurred. In addition, spending and cash advance amounts are also drawn from these distributions. If an agent made a cash advance or the utilization rate exceeded 1, a cash advance fee or an over-limit fee was incurred (regulated fee levels in the UK were used). The simulation continued for 24 months. We ran the simulation with the mean balance in the months where card holders switched to minimum automatic repayments ( $\pounds 1,330.34$ ). Further technical details are presented in Web Appendix I.

Figure 3 shows the results where we see consistently higher balances (Panel (a)) and higher total costs (Panel (b)) in the 24-month period. Therefore, even accounting for the higher prevalence of late payment fees among Remaining as Non-Auto Cards, the simulations show that Switching to Min-Auto Cards creates higher costs of debt for the consumer.

Simulation responses (Web Appendix J) further show that cards using minimum automatic repayments at least once in the data period could save about 19.8% of interest and fees if they did not switch to minimum automatic repayment. This is about 8.4% of the all interest and fees paid in the credit card market. Even an effect ten times smaller would be economically significant.

# EXPERIMENTAL STUDY: ANCHORING EFFECTS OF MINIMUM PAYMENTS ON MANUAL PAYMENTS

In our second study, we focus on manual credit card repayments and use an online experiment to explore how minimum payments also affect repayment behavior among manual payers (i.e., not using automatic payments). We first replicate the finding from previous studies that people anchor upon the minimum payment information presented in the credit card payment journey, showing reduced repayments (Jiang and Dunn, 2013; Navarro-Martinez, Salisbury, Lemon et al., 2011; Salisbury and Zhao, 2020; Stewart, 2009).

We extend the experimental design to test potential remedies to the effect of presenting minimum payments. Specifically, we test for effects of i) prompting people to pay in full before offering partial and minimum payments options and, ii) prompting those who choose to repay below or near the minimum to repay more. These interventions aim to lower the anchoring effect of minimum payments. In the first case, prompting people to pay in full before offering other options was intended to raise this option in people's minds before they chose an amount to repay. In the second case, prompting people who pay too little to pay more provided them with critical information about the time to repay at the moment of choice, without suggesting low repayments to those who spontaneously chose to repay more. We anticipated that these treatments would be effective because they were easy and timely (Service, Hallsworth, Halpern et al., 2014).

The experiment was conducted in collaboration with the UK financial regulator – the Financial Conduct Authority (FCA) – as part of their study investigating the UK credit card market. The experiment was not externally preregistered because of the nature of this. The experiment received ethical approval from the University of Warwick research ethics committee (128/15-16:DR@W). A unique property of this experimental design is that it has increased external validity, as a subsequent study demonstrates that hypothetical repayment responses are correlated with real-world repayments on linked credit card transaction data (Guttman-Kenney, Leary, and Stewart, 2018).

### Method

Page 21 of 76

*Participants.* We recruited 1,000 participants from the crowd-sourcing platform Prolific Academic, who were living and employed in the UK and spoke English as a first language. We decided in advance to eliminate (in a sequential process) those who did not reach the end of the experiment (7), duplicate submissions (112), submissions from the same IP (35), participants who did not answer "yes" to a question asking if they answered carefully (54), the top 5% of fastest responses (37) and a further 56 people for whom the experiment duration was not recorded. This left 699 participants.

*Design.* Participants were randomly assigned to one of four cells in a 2 × 2 design, crossing omission or inclusion of a minimum payment prompt with initially prompting or not for a full repayment. While we did not have a theoretical reason for expecting an interaction, an interaction would have implications for policy design. Table 8 describes the treatments. The Control Condition included the minimum payment prompt but did not prompt for full repayment, just as in real-world credit card statements. The Omit Minimum Condition differed only in omitting minimum payment information from the bill. The Include Prompt Condition retained the minimum payment information and, additionally, initially asked participants whether they would like to pay the bill in full before offering other payment options. The Omit and Prompt Condition combined both of the previous treatments, omitting minimum payment information and initially prompting for full repayment.

**Procedure.** Participants were asked to imagine that they had received a credit card bill, asked to consider how much money they actually had, and decide how much of the hypothetical bill they would repay. The bill was for the 2011 UK median of £977.17, with the corresponding median minimum payment of £23.97 (Navarro-Martinez, Salisbury, Lemon et al., 2011).

In the Control Condition – with the minimum payment amount and without an initial full repayment prompt – participants were given the bill information and typed their hypothetical repayment (see Figure 4a). In the conditions without the minimum payment amount, the minimum payment information was omitted from the bill (Figure 4b). In the conditions with an initial full repayment prompt participants were first asked whether they would like to pay in full or not (Figure 4c). If they selected "no", they typed the payment amount.

Afterwards, we asked participants to self-report whether they have a credit card and whether

they paid their bill in full in the previous month. Balance tests in Web Appendix K shows that conditions were about equal and did not differ significantly in the fraction of participants using credit cards or paying their bill in full last month.

We also collected a secondary measure for some participants, conditional upon their initial payment choice. If a participant initially chose a repayment amount at or lower than the minimum payment, they were then shown a 'Low payment prompt' offering six options: the payment required for 1, 2, and 3 year paydown, the minimum, the amount they originally chose, and a blank box for any other amount (Figure 5). If participants chose a repayment above the minimum but below 1.5 t/imes the minimum, they were offered five of the six options. For these participants, we omitted the minimum payment option, because they had already spontaneously chosen to pay more than the minimum and did not want to re-anchor them to this amount.

*Measures.* Our primary dependent variable was the amount that participants selected as their repayment for the bill. We also had, as secondary dependent variable, a (potentially) revised repayment amount after participants making low payments were prompted to make higher repayments. We describe these in more detail below, along with the independent variables and covariates.

Repayment Amount. The dependent variable was the amount that participants selected as their repayment for the bill, measured in  $\pounds$ . In conditions with a full repayment prompt, participants could select a radio button to make a full repayment, which was recorded as  $\pounds$ 977.17. In conditions without a full repayment prompt, or after selecting "no, repay less than the full outstanding statement balance" in conditions with a full repayment prompt, participants typed a repayment in  $\pounds$  in a text box.

*Revised Repayment Amount.* As described above, if participants made a low repayment they were offered a series of prompts to make a higher repayment. The measure was also in  $\pounds$ , with radio button responses coded as their  $\pounds$  amount. This secondary dependent variable was only measured for those who chose an initial repayment below 1.5 times the minimum (i.e., below £35.96).

*Independent Variables.* As described above, we had two independent variables: (a) whether minimum payment information was included or omitted from the credit card statement and (b)

whether participants were asked if they would like to pay in full before, if they declined, being able to give an open response of any repayment amount.

*Measures for Data Quality*. We collected three variables to screen for data quality (e.g., Buchanan and Scofield 2018). We asked participants if they chose a repayment option carefully and thoughtfully, with response options of "Yes, I took care" or "No, I just want the payment". We had decided in advance to exclude anyone answering "No". We also recorded the duration of the experiment, having decided in advance to exlude the 5% of people who were fastest. We recorded the IP address and Prolific Academic ID to delete, as planned, participants making duplicate submissions.

Data and code for the analysis will be posted online on publication.

#### Results

Our primary analysis compares repayments with and without minimum payment information and with and without prompting for full repayment. Table 9 reports the mean repayments. As hypothesised, repayments were higher when minimum payment information was omitted and repayments were higher when participants were first prompted to pay in full.

To quantify the above description, we analyzed repayments with a linear regression of repayment amount on a minimum payment information dummy, a full repayment prompt dummy, and their interaction. Because the interaction was not significant and we had no theoretical reason to expect one, we report here the regression without an interaction. The coefficient for the minimum payment information dummy estimates the increase in repayments when minimum payment information was omitted. The coefficient for the full repayment prompt dummy estimates the increase in repayment prompt dummy estimates the increase in repayment is prompted.

Model 1 in Table 10 shows the coefficients. Averaging over full repayment prompting, omitting minimum payment information raised the mean repayment from £447, 95% CI [£404, £490] to £535, 95% CI [£491, £579]. This was a significant increase of £88, 95% CI [£26, £149], t(696) = 2.79, p = .005. Averging over minimum payment inclusion, repayments were also higher when the full repayment prompt is included. Including a full payment prompt raised the mean repayment from £438, 95% CI [£395, £481] to £545, 95% CI [£501, £589]. This is a

significant increase of £107, 95% CI [£45, £169], t(694) = 3.40, p < .001.

One possibility is that the behavior of participants in our online experiment in part reflects their own financial situation. For example, some participants might select minimum payments as this is their usual repayment behavior on their own credit card, for example due to facing low income or liquidity constraints in their finances. At the suggestion of a reviewer, we draw upon the self-reported information provided by participants on their real-world financial position to control for this possible confound (note also that, as reported in Appendix K, conditions were balanced on these variables). Models 2 and 3 in Table 10 include a card-user dummy indicating whether the participant has a real credit card. The dummy is included as a covariate in Model 2 and additionally interacted with the experimental manipulations in Model 3. The pattern of results for the experimental manipulations is unchanged. Holding a card is associated with higher repayments. The null interaction show no evidence that the experimental manipulations are affected by card holding. Models 4 and 5 repeat the exercise with a full-repayment dummy indicating whether the participant normally repays their bill in full. Again the pattern of results is unchanged for the experimental manipulations. A history of full repayment is associated with higher repayments but does not interact with the experimental manipulations.

Because the distribution of repayments departs from Gaussian, we have included supplementary analyses. In Appendix K we show, consistent with the analysis of the means above, that the distribution of repayments when the minimum is omitted first order stochastically dominates the distribution when the minimum is included. Further, the distribution of repayments when full repayment is prompted first order stochastically dominates the distribution when full repayment is not prompted. We also analyse the probability of making minimum repayments, which is reduced when the minimum is omitted and full repayment is prompted, and the probability of making full repayments, which is increased when the minimum is omitted and full repayment is prompted and full repayment is prompted and full repayment is prompted.

*Low payment prompts.* Figure 6 shows how the 106 people paying at or below 1.5 times the minimum (here  $\pm 35.95$ ) revised their payments after the low payment prompts. 28 kept their original repayment, no one decreased their repayment, and 78 people revised their repayment upwards – typically to be one of the prompted payment amounts. For some people, the increase

was substantial - for example, moving from initially selecting to pay only the minimum to then selecting to pay an amount that would amortize debt in a year ('One-Year Paydown') is more than a tripling of payment amounts. Participants were 2.53, 95% CI [1.68, 3.92] times more likely to increase their payment than leave it unchanged.

#### **Experiment Discussion**

Omitting minimum payment information increased repayments, replicating findings from Jiang and Dunn (2013), Navarro-Martinez, Salisbury, Lemon et al. (2011), Salisbury and Zhao (2020), and Stewart (2009). We also tested two new interventions. An initial prompt to pay in full also increased repayments. Prompting people who initially selected to pay at or near the minimum to repay more, by providing scenarios about the payments needed to clear the debt in 1, 2, or 3 years, also increased repayments for the majority prompted. We think this prompt was successful because (a) it provided scenario information at exactly the right time, unlike earlier interventions which found only small effects local to the scenario repayment amount (Agarwal, Chomsisenghpet, Mahoney et al., 2015; Hershfield and Roese, 2015; Keys and Wang, 2019; Navarro-Martinez, Salisbury, Lemon et al., 2011) and (b) prompting people to make a second choice is a Gricean indication that their first choice was poor (Rose and Blank, 1974) - a finding in line with a recent meta-analysis that concluded that defaults are more effective when they are seen to communicate what a choice architect thinks a decision-maker should do (Jachimowicz, Duncan, Weber et al., 2019).

### **GENERAL DISCUSSION**

Defaults exist in many areas of individual choice, and are commonly used by policymakers as a device to achieve behavioral change. However, there is concern that defaults may have unintended consequences and that the positive effect of introducing a default on one outcome may co-occur with negative effects on other outcomes.

Our analysis of minimum payments indeed shows the unintended effects of defaults once multiple outcomes are examined. Our analysis shows that setting an automatic repayment has the mixed effect of nearly eliminating the likelihood of missed repayments, but it also decreases average payments. Why does this occur? One interpretation is that the minimum payment being paid automatically reduces attention to balances. Consumers choosing minimum automatic repayments are selecting a potentially powerful psychological default, one which facilitates inattention. This results in repeated minimum repayments, which greatly increases the debt revolved from month to month and thus the interest paid.

This unintended effect of the default raises the need for potential mitigations. Our experimental study explored the efficacy of interventions. We first replicate the now robust result that merely providing minimum payment information reduces repayment. We have also shown that providing alternative information—namely a prompt for full repayment or to reconsider low repayments with explicit higher repayment suggested—mitigates the effect of anchoring on the minimum repayment. While other attempts have failed, we believe ours succeeded because the information was presented just in time, exactly when it was required. Whether consumers are opting in to their own minimum payment default by setting an automatic repayment, or are anchoring their free choice manual repayments upon the minimum, minimum payments are having detrimental effects.

We have focused here upon credit card repayments where consumers face an explicit choice about the size of their automatic repayment, and can easily make additional manual repayments. But the power of setting a default repayment is applicable more widely. For example, choosing the term of a mortgage or choosing fixed monthly repayments for a personal loan also sets powerful defaults, and these defaults are administratively harder to change, and changes can even incur additional costs. If people are initially conservative in their choice of level, so they can be sure they can meet their monthly repayments, our findings suggest that they are unlikely to get round to making additional repayments over and above the default even if they can afford to make additional repayments to save interest costs.

A limitation of our study is that we cannot provide direct evidence that attention is the mechanism underlying consumer behavior, and therefore the theoretical contribution of our study is limited. Hence, looking to future research, we suggest approaches which could help understand better the underlying theoretical mechanism, potentially leading to policy solutions. It may be that the unintended effect of minimum automatic repayment could be partially addressed through interventions which bring the repayment decision back to the top of the

consumer's mind, drawing attention to the repayment decision and shrouding the minimum payment. More generally, what should policymakers and industry do to avoid introducing defaults with unintended effects? We have two suggestions. The first is to consider the status quo effects resulting from the default itself—is the new status quo unambiguously in the consumer's interest? The second is to assess the effect of the defaults across as broad a range of outcome behaviors as are available, and to follow up on these assessments over time. This approach will help policymakers to fully evaluate the impact of defaults and consider whether mitigations are necessary in the presence of unintended consequences.

#### References

- Abadie, Alberto (2021), "Using Synthetic Controls: Feasibility, Data Requirements, and Methodological Aspects," *Journal of Economic Literature*, forthcoming.
- Adams, Paul, Benedict Guttman-Kenney, Lucy Hayes, Stefan Hunt, David Laibson, and Neil Stewart (2021), "Do Nudges Reduce Borrowing and Consumer Confusion in the Credit Card Market?" *Economica*, forthcoming.
- Agarwal, Sumit, Souphala Chomsisenghpet, Neale Mahoney, and Johannes Stroebel (2015), "Regulating Consumer Financial Products: Evidence from Credit Cards," *Quarterly Journal of Economics*, 130 (1), 111–164.
- Albers, Wulf (1997), "Foundations of a Theory of Prominence in the Decimal System. Part I: Numerical Response as a Process, Exactness, Scales, and Structure of Scales," URL https: //pub.uni-bielefeld.de/download/2911255/2911256.
- Anda, Martin and Justin Temmen (2014), "Smart Metering for Residential Energy Efficiency: The Use of Community Based Social Marketing for Behavioural Change and Smart Grid Introduction," *Renewable Energy*, 67, 119–127.
- Ariely, Dan, George Loewenstein, and Drazen Prelec (2003), ""Coherent Arbitrariness": Stable Demand Curves Without Stable Preferences," *Quarterly Journal of Economics*, 118 (1), 73–105.
- Arshad, Adam, Benjamin Anderson, and Adnan Sharif (2019), "Comparison of Organ Donation and Transplantation Rates Between Opt-Out and Opt-In Systems," *Kidney International*, 95 (6), 1453–1460.
- Athey, Susan and Guido W. Imbens (2017), "The State of Applied Econometrics: Causality and Policy Evaluation," *Journal of Economic Perspectives*, 31 (2), 3–32.
- Bailey, Michael, Ruiqing Cao, Theresa Kuchler, and Johannes Stroebel (2018), "The Economic Effects of Social Networks: Evidence from the Housing Market," *Journal of Political Economy*, 126 (6), 2224–2276.

- Ball, Clifford A., Walter N. Torous, and Adrian E. Tschoegl (1985), "The Degree of Price Resolution: The Case of the Gold Market," *Journal of Futures Markets*, 5 (1), 29–43.
- Bartels, Daniel and Abigail Sussman (2018), "Anchors or Targets? An Examination of Credit Card Statements," *University of Chicago Working Paper*.
- Bastida, Leire, Jed J. Cohen, Andrea Kollmann, Ana Moya, and Johannes Reichl (2019),
  "Exploring the Role of ICT on Household Behavioural Energy Efficiency to Mitigate Global
  Warming," *Renewable and Sustainable Energy Reviews*, 103, 455–462.
- Beshears, John, James J. Choi, David Laibson, and Brigitte C. Madrian (2006), "The Importance of Default Options for Retirement Savings Outcomes: Evidence from the United States," *NBER Working Paper*, w12009.
- Beshears, John, James J. Choi, David Laibson, Brigitte C. Madrian, and William L. Skimmyhorn (2019), "Borrowing to Save? The Impact of Automatic Enrollment on Debt," *NBER Working Paper*, w25876.
- Buchanan, Erin M. and John E. Scofield (2018), "Methods to Detect Low Quality Data and its Implication for Psychological Research," *Behavior Research Methods*, 50, 2586–2596.
- Bursztyn, Leonardo, Florian Ederer, Bruno Ferman, and Noam Yuchtman (2014), "Understanding Mechanisms Underlying Peer Effects: Evidence from a Field Experiment on Financial Decisions," *Econometrica*, 82 (4), 1273–1301.
- Carlevaro, Fabrizio, Yves Croissant, and Stéphane Hoareau (2009), "Multiple Hurdle Tobit Models in R: The mhurdle Package," URL https://cran.r-project.org/web/ packages/mhurdle/vignettes/mhurdle.pdf.
- Chapman, Gretchen B. and Eric J. Johnson (1994), "The Limits of Anchoring," *Journal of Behavioral Decision Making*, 7 (4), 223–242.
- Chevalier, Judith A. and Dina Mayzlin (2006), "The Effect of Word of Mouth on Sales: Online Book Reviews," *Journal of Marketing Research*, 43 (3), 345–354.

- Choi, James J., David Laibson, Brigitte C. Madrian, and Andrew Metrick (2001), "For Better or for Worse: Default Effects and 401 (K) Savings Behavior," *NBER Working Paper*, w8651.
- Choi, James J., David Laibson, Brigitte C. Madrian, and Andrew Metrick (2003), "Optimal Defaults," *American Economic Review*, 93 (2), 180–185.
- Christie, William G. and Paul H. Schultz (1994), "Why do Nasdaq Market Makers Avoid Odd-8th Quotes," *Journal of Finance*, 49 (3), 1813–1840.
- CNBC (2018), "Here's What Happens When You Only Pay the Minimum on Your Credit Card Balance," https://www.cnbc.com/2018/07/23/ what-happens-when-you-only-pay-the-minimum-on-your-credit-card-balance html, accessed: 2021-03-19.
- Converse, Benjamin A. and Patrick J. Dennis (2018), "The Role of "Prominent Number" in Open Numerical Judgment: Strained Decision Makers Choose from a Limited Set of Accessible Numbers," *Organizational Behavior and Human Decision Processes*, 147, 94–107.
- Cragg, John G. (1971), "Some Statistical Models for Limited Dependent Variables with Application to the Demand for Durable Goods," *Econometrica*, 39 (5), 829–844.
- Cronqvist, Henrik and Richard H. Thaler (2004), "Design Choices in Privatized Social-Security Systems: Learning from the Swedish Experience," *American Economic Review*, 94 (2), 424–428.
- Epley, Nicholas and Thomas Gilovich (2001), "Putting Adjustment Back in the Anchoring and Adjustment Heuristic: Differential Processing of Self-Generated and Experimenter-Provided Anchors," *Psychological Science*, 12 (2), 391–396.
- Epley, Nicolas and Thomas Gilovich (2006), "The Anchoring and Adjustment Heuristic: Why Adjustments are Insufficient," *Psychological Science*, 17 (4), 311–318.
- Fiala, Lenka and Charles N. Noussair (2017), "Charitable Giving, Emotions, and the Default Effect," *Economic Inquiry*, 55 (1), 1792–1812.

Financial	Conduct	Authority	(2016),	"Credit	Card	Market	Study		
(MS14/6)	Final	Findings,	Annex	4:	Behavioural		Trials,"		
URL	www.fca.org.uk/publication/market-studies/								
ms14-6-	3-credit	-card-mar	ket-study	-final-f	inding	s-report	-annex-	4.	
pdf.									

Fisher, Marshall L., Santiago Gallino, and Joseph Jiaqi Xu (2019), "The Value of Rapid Delivery in Omnichannel Retailing," *Journal of Marketing Research*, 56 (5), 732–748.

Fowlie, Meredith, Catherine Wolfram, C. Anna Spurlock, Annika Todd, Patrick Baylis, and Peter Cappers (2017), "Default Effects and Follow-On Behavior: Evidence from an Electricity Pricing Program," *NBER Working Paper*, w23553.

Frederick, Shane W. and Daniel Mochon (2012), "A Scale Distortion Theory of Anchoring," Journal of Experimental Psychology: General, 141 (1), 124–133.

Gathergood, John, Neale Mahoney, Neil Stewart, and Jörg Weber (2019a), "How Do Americans Repay Their Debt? The Balance-Matching Heuristic," *Economics Bulletin*, 39 (2), 1458–1466, URL http://www.accessecon.com/Pubs/EB/2019/Volume39/ EB-19-V39-I2-P138.pdf.

- Gathergood, John, Neale Mahoney, Neil Stewart, and Jörg Weber (2019b), "How Do Individuals Repay Their debt? The Balance-Matching Heuristic," *American Economic Review*, 109 (3), 844–75.
- Gathergood, John, Hiroaki Sakaguchi, Neil Stewart, and Jörg Weber (2021), "How Do Consumers Avoid Penalty Fees? Evidence from Credit Cards," *Management Science*, 67 (4), 2562–2578.
- Germann, Frank, Peter Ebbes, and Rajdeep Grewal (2015), "The Chief Marketing Officer Matters!" *Journal of Marketing*, 79 (3), 1–22.
- Gill, Manpreet, Shrihari Sridhar, and Rajdeep Grewal (2017), "Return on Engagement Initiatives: A Study of a Business-to-Business Mobile App," *Journal of Marketing*, 81 (4), 45–66.

- Goswami, Indranil and Oleg Urminsky (2016), "When Should the Ask Be a Nudge? The Effect of Default Amounts on Charitable Donations," *Journal of Marketing Research*, 53 (5), 829–846.
- Guttman-Kenney, Benedict, Paul Adams, Stefan Hunt, David Laibson, and Neil Stewart (2021), "The Semblance of Success in Nudging Consumers to Pay Down Credit Card Debt," *University of Chicago Working Paper*.
- Guttman-Kenney, Benedict, Jesse Leary, and Neil Stewart (2018), "Weighing Anchor On Credit Card Debt," URL https://www.fca.org.uk/publication/ occasional-papers/occasional-paper-43.pdf.
- Haggag, Kareem and Giovanni Paci (2014), "Default Tips," *American Economic Journal: Applied Economics*, 6 (3), 1–19.
- Harris, Lawrence (1991), "Stock-Price Clustering and Discreteness," *Review of Financial Studies*, 4 (3), 389–415.
- Hedlin, Simon and Cass R. Sunstein (2016), "Does Active Choosing Promote Green Energy Use: Experimental Evidence," *Ecology Law Quarterly*, 43 (1), 107.
- Hershfield, Hal E. and Neale J. Roese (2015), "Dual Payoff Scenario Warnings on Credit Card Statements Elicit Suboptimal Payoff Decisions," *Journal of Consumer Psychology*, 25 (1), 15–27.
- Ho, Daniel E., Kosuke Imai, Gary King, and Elizabeth A. Stuart (2011), "MatchIt: Nonparametric Preprocessing for Parametric Causal Inference," *Journal of Statistical Software*, 42 (8), 1–28.
- Jachimowicz, Jon M., Shannon Duncan, Elke U. Weber, and Eric J. Johnson (2019), "When and Why Defaults Influence Decisions: A Meta-Analysis of Default Effects," *Behavioural Public Policy*, 3 (2), 159–186.
- Jacowitz, Karen E. and Daniel Kahneman (1995), "Measures of Anchoring in Estimation Tasks," *Personality and Social Psychology Bulletin*, 21 (11), 1161–1166.

Journal of Marketing Research

- Jiang, Sarah S. and Lucia F. Dunn (2013), "New Evidence on Credit Card Borrowing and Repayment Patterns," *Economic Inquiry*, 51 (1), 394–407.
- Johnson, Eric J. and Daniel Goldstein (2003), "Do Defaults Save Lives?" *Science*, 302 (5649), 1338–1339.
- Kandel, Shmuel, Oded Sarig, and Avi Wohl (2001), "Do Investors Prefer Round Stock Prices? Evidence From Israeli IPO Auctions," *Journal of Banking & Finance*, 25 (8), 1543–1551.
- Keys, Benjamin J. and Jialan Wang (2019), "Minimum Payments and Debt Paydown in Consumer Credit Cards," *Journal of Financial Economics*, 131 (3), 528–548.
- Li, Danyang, Zackary Hawley, and Kurt Schnier (2013), "Increasing Organ Donation Via Changes in the Default Choice or Allocation Rule," *Journal of Health Economics*, 32 (6), 1117–1129.
- Madrian, Brigitte C. and Dennis F. Shea (2001), "The Power of Suggestion: Inertia in 401 (k) Participation and Savings Behavior," *Quarterly Journal of Economics*, 116 (4), 1149–1187.
- McHugh, Sandie and Rob Ranyard (2016), "Consumers' Credit Card Repayment Decisions: The Role of Higher Anchors and Future Repayment Concern," *Journal of Economic Psychology*, 52, 102–114.
- Momsen, Katharina and Thomas Stoerk (2014), "From Intention to Action: Can Nudges Help Consumers to Choose Renewable Energy?" *Energy Policy*, 74, 376–382.
- Mussweiler, Thomas and Fritz Strack (1999), "Hypothesis-Consistent Testing and Semantic Priming in the Anchoring Paradigm: A Selective Accessibility Model," *Journal of Experimental Social Psychology*, 35 (2), 136–164.
- Mussweiler, Thomas and Fritz Strack (2001), "The Semantics of Anchoring," *Organizational Behavior and Human Decision Processes*, 86 (2), 234–255.
- Navarro-Martinez, Daniel, Linda C. Salisbury, Katherine N. Lemon, Neil Stewart, William J. Matthews, and Adam J. L. Harris (2011), "Minimum Required Payment and Supplemental

Information Disclosure Effects on Consumer Debt Repayment Decisions," *Journal of Marketing Research*, 48 (Special Issue), S60–S77.

- O'Donoghue, Ted and Matthew Rabin (1999), "Doing It Now or Later," *American Economic Review*, 89 (1), 103–124.
- Rose, Susan A. and Marion Blank (1974), "Potency of Context in Childrens Cognition: Illustration Through Conservation," *Child Development*, 45, 499–502.
- Rossi, Peter E. (2014), "Even the Rich Can Make Themselves Poor: A Critical Examination of IV Methods in Marketing Applications," *Marketing Science*, 33 (5), 655–672.
- Russo, J. Edward and Paul J. H. Shoemaker (1989), *Decision Traps*, New York: Simon and Schuster.
- Rutz, Oliver J., Randolph E. Bucklin, and Garrett P. Sonnier (2012), "A Latent Instrumental Variables Approach to Modeling Keyword Conversion in Paid Search Advertising," *Journal of Marketing Research*, 49 (3), 306–319.
- Salisbury, Linda C. (2014), "Minimum Payment Warnings and Information Disclosure Effects on Consumer Debt Repayment Decisions," *Journal of Public Policy & Marketing*, 33 (1), 49–64.
- Salisbury, Linda C. and Min Zhao (2020), "Active Choice Format and Minimum Payment Warnings in Credit Card Repayment Decisions," *Journal of Public Policy & Marketing*, 39 (3).
- Schulz, Jonathan F., Petra Thiemann, and Christian Thöni (2018), "Nudging Generosity:
  Choice Architecture and Cognitive Factors in Charitable Giving," *Journal of Behavioral and Experimental Economics*, 74, 139–145.
- Seira, Enrique, Alan Elizondo, and Eduardo Laguna-Müggenburg (2017), "Are Information Disclosures Effective? Evidence from the Credit Card Market," *American Economic Journal: Economic Policy*, 9 (1), 277–307.

Service, Owain, Michael Hallsworth, David Halpern, Felicity Algate, Rory Gallagher, Sam Nguyen, Ruda Simon, Michael Sanders, Pelenur Marcos, Alex Gyani, Hugo Harper, Joanne Reinhard, and Elspeth Kirkman (2014), "EAST: Four Simple Ways to Apply Behavioural Insights," URL https://www.bi.team/publications/ east-four-simple-ways-to-apply-behavioural-insights/.

- Shepherd, Lee, Ronan E O'Carroll, and Eamonn Ferguson (2014), "An International Comparison of Deceased and Living Organ Donation/Transplant Rates in Opt-In and Opt-Out Systems: A Panel Study," *BMC Medicine*, 12 (131), 1–14.
- Shi, Huanhuan, Rajdeep Grewal, and Hari Sridhar (2021), "Organizational Herding in Advertising Spending Disclosures: Evidence and Mechanisms," *Journal of Marketing Research*, 58 (3), 515–538.
- Simmons, Beth A. and Daniel J. Hopkins (2005), "The Constraining Power of International Treaties: Theory and Methods," *American Political Science Review*, 99 (4), 623–631.
- Stewart, Neil (2009), "The Cost of Anchoring on Credit Card Minimum Payments," *Psychological Science*, 20 (1), 39–41.
- Tversky, Amos and Daniel Kahneman (1974), "Judgment Under Uncertainty: Heuristics and Biases," *Science*, 185 (4157), 1124–1130.
- Van Dalen, Hendrik P. and Kène Henkens (2014), "Comparing the Effects of Defaults in Organ Donation Systems," *Social Science & Medicine*, 106, 137–142.
- Wegener, Duane T., Richard E. Petty, Kevin L. Blankenship, and Brian Detweiler-Bedell (2010), "Elaboration and Numerical Anchoring: Implications of Attitude Theories for Consumer Judgment and Decision Making," *Journal of Consumer Psychology*, 20 (1), 5–16.
- Whynes, David K., Zoë Philips, and Emma Frew (2005), "Think of a Number ... Any Number?" *Health Economics*, 14 (11), 1191–1195.
- Willis, Brian H. and Muireann Quigley (2014), "Opt-Out Organ Donation: On Evidence and Public Policy," *Journal of the Royal Society of Medicine*, 107 (2), 56–60.
- Wong, Kin F. E. and Jessica Y. Y. Kwong (2000), "Is 7300 m Equal to 7.3 km? Same Semantics but Different Anchoring Effects," *Organizational Behavior and Human Decision Processes*, 82 (2), 314–333.
- Zarghamee, Homa S., Kent D. Messer, Jacob R. Fooks, William D. Schulze, Shang Wu, and Jubo Yan (2017), "Nudging Charitable Giving: Three Field Experiments," *Journal of Behavioral and Experimental Economics*, 66 (Special Issue), 137–149.

d ...

Figure 1: Bar chart of proportion of repayments in months before and after switching in four mutually exclusive and exhaustive categories: missed (below minimum), minimum, large and full. The unit of observation is a card-month (total repayments to a particular card in a particular month). The sample consists of monthly repayments made between an account opening date or the beginning of the data period (Jan. 2013) whichever is latter and the end of the data period (Nov. 2014). The sample was restricted to cards switching to automatic repayments during the data period. The number of months contributing to the figure differs among cards while the number of months included in before and after periods differs within a card. Card-months with no balance were excluded.





Figure 2: Coefficient estimates and confidence intervals for the effect on payments of switchers switching to a minimum automatic repayment. Error bars are 95% confidence intervals.

Figure 3: The results from the excess interest cost simulation. The shaded area and the error bars are 95% confidence intervals obtained by the bootstrap method (1,000 resamples) in Panels (a) and (b), respectively.

```
(a) Balance
```



Journal of Marketing Research

### Figure 4: The presentation of hypothetical statements in the experiment.

Credit card bill Account number: 2209 4167 3304 0195	
Summary of accountCurrent balance£977.17Minimum payment£23.97Due Date20 July 2018	
If you received this bill today, what would you do?	
How much would you like to repay? £ Please fill in the amount you would like to pay Submit	
(a) Control condition statement	
Credit card bill Account number: 2209 4167 3304 0195	
Summary of account Current balance £977.17 Om Due Date 20 July 2018 pay amount	it imum ment vunt
If you received this bill today, what would you do?	
How much would you like to repay? £ Please fill in the amount you would like to pay Submit	
(b) Omit minimum	
Credit card bill Account number: 2209 4167 3304 0195	
Summary of accountCurrent balance£977.17Minimum payment£23.97Due Date20 July 2018	
If you received this bill today, what would you do?	
Would you like to repay your statement balance in full? • Yes, fully repay my outstanding statement balance • No, repay less than the full oustanding statement balance Submit	nent npt
(c) Prompt for full repayment	

Figure 5: Low payment prompts shown to those selecting to pay below 1.5 times the minimum in the experiment.

#### Credit card bill

Summary of account Current balance £977.17 Due Date 20 July 2018

Account number: 2209 4167 3304 0195

#### If you received this bill today, what would you do?

Are you sur	e?	
You initially s	selected to repay	£5.00
The minimu	Im payment for this bill is	£23.97
You might b	e able to repay your debt faster by	slightly increasing your credit card repayment
Pay £89.37	It would take 1 year to pay off the full de	ebt if you paid this amount every month
Pay £48.89	It would take 2 years to pay off the full of 2 years	lebt if you paid this amount every month
Pay £35.56	It would take 3 years to pay off the full of 3 years	lebt if you paid this amount every month
Pay minimum	It would take 18 years and 3 months to 18 years and 3 months	pay off the full debt if you pay the minimum each month
Pay £5.00	Your original payment. You will never cle interest each month	ear the balance as this payment is too low to cover the
Pay another amount Submit	E These calculations assume that or make any new balance transfe	you do not continue to spend using your card rs

Figure 6: Revised payments for those prompted to pay more in the experiment. Dot area is proportional to the number of participants. Points above the diagonal are participants revising their payment upwards. Points on the diagonal are participants leaving their repayment unchanged.



	Studies	Key Findings
Organ Donation	Johnson and Goldstein (2003); Willis and Quigley (2014); Shepherd, O'Carroll, and Ferguson (2014); Arshad, Anderson, and Sharif (2019); Li, Hawley, and Schnier (2013); Van Dalen and Henkens (2014)	Opt-out policies for organ donation ( contrast to opt-in policies) lead to lat increases in donation rates, though ra ethical concerns and can lead to post-death dispute with next of kin.
Retirement Saving	Cronqvist and Thaler (2004); Choi, Laibson, Madrian et al. (2001); Choi, Laibson, Madrian et al. (2003); Beshears, Choi, Laibson et al. (2006); Madrian and Shea (2001); Beshears, Choi, Laibson et al. (2019)	Auto-enrolment into pensions increa coverage rates and level of pension s for most participants. However, redu other saving (including non-pension saving) and increased levels of debt offset the increase in pension saving.
Energy Efficiency	Momsen and Stoerk (2014); Anda and Temmen (2014); Fowlie, Wolfram, Spurlock et al. (2017); Bastida, Cohen, Kollmann et al. (2019); Hedlin and Sunstein (2016)	Defaults can be effective at increasin uptake of renewable energy usage, b may have only short-lived effects as consumers switch to cheaper energy at renewal points.
Charitable Giving	Zarghamee, Messer, Fooks et al. (2017); Goswami and Urminsky (2016); Fiala and Noussair (2017); Schulz, Thiemann, and Thöni (2018)	Default options increase occurrences charitable giving, but may reduce ov value of amount given by reducing g over-and-above the default level.

Торіс	Studies	Key Findings
Repayment horizon information disclosures	Agarwal, Chomsisenghpet, Mahoney et al. (2015); Adams, Guttman-Kenney, Hayes et al. (2021); Seira, Elizondo, and Laguna-Müggenburg (2017); Hershfield and Roese (2015); Keys and Wang (2019); Navarro-Martinez, Salisbury, Lemon et al. (2011)	Disclosing the level of repayments necessary to clear debt within shorter time periods and/or illustrating savings from faster repayments has no effect on observed payments even if information is non-neutral nudging encouraging debt reduction.
Shrouding the minimum payment	Bartels and Sussman (2018); McHugh and Ranyard (2016); Navarro-Martinez, Salisbury, Lemon et al. (2011); Salisbury (2014); Salisbury and Zhao (2020); Stewart (2009); (Guttman-Kenney, Leary, and Stewart, 2018); Guttman-Kenney, Adams, Hunt et al. (2021)	The minimum payment may act as an anchor, reducing payments below the leve which would otherwise be paid.

Table 2: Summary of Studies on Effects of Defaults in the Credit Card Market

payme... (κτικ... and Stewart, 2018); Guttman-Kenney, Adams, Hurt et al. (2021)

Statistics	Min	Fixed	Full	Mixed/Unknown	Total
Num. of Repayments	188,288	53,363	91,203	63,542	396,396
Proportion (%)	47.5	13.5	23.0	16.0	100.0
Num. of Cards	9,803	2,698	5,162	3,315	20,978
Proportion (%)	46.7	12.9	24.6	15.8	100.0

Table 3: Counts of Switching from No Automatic Repayment to Different Automatic Repayment Types in the Field Data

Note. "Min" column represents minimum automatic repayment. "Fixed" column represents fixed automatic repayment covering more than the minimum but less than the full balance. "Full" column represents full automatic repayment of the balance. "Mixed/Unknown" column represents automatic repayments which changed between types across months or automatic repayments which we cannot identify the type mostly due to sufficiently small balances and payments throughout the data period.

Cerperiew Lesson

Switch to Min-Auto Switch to Fixed-Auto Switch to Full-Auto **Statistics** Before After Before After Before After Number of observations 62,708 125,580 21,728 31,635 44,435 46,768 Number of cards 9,803 5,162 9,803 2,698 2,698 5,162 Median balance 1,089 1.081 1,122 1,140 387 317 Median credit limit 4,500 4,850 4,000 4,000 5,000 4,800 Median utilization .319 .419 .420 .074 .343 .084 Median spending amount 124 72 383 333 77 24 Median merchant APR .180 .189 .189 .199 .169 .170 .249 Median cash APR .249 .249 .249 .249 .249 Median charged-off rate .005 .006 .005 .005 .002 .002

Table 4: Summary Statistics for the Field Data.

Note. "Min-Auto" represents minimum automatic repayment. "Fixed-Auto" represents fixed automatic repayments covering more than the minimum and less than the full balance. "Full-Auto" represents full automatic repayment. Median values are calculated using all card-month observations with a positive balance.

1		υ	
	Treatment	Control	p-value
Ave. Balance	1,843.25	1,827.69	1.000
Ave. Credit Limit	5,462.62	5,425.64	0.951
Ave. Utilization	.41	.41	1.000
Ave. Spending	406.43	397.30	.537
Ave. Merchant APR	.20	.20	1.000
Ave. Cash APR	.25	.25	1.000
Ave. Charge-off Rate	.03	.03	.118
Card Tenure	7.54	7.54	.450

#### Table 5: Comparison of Pre-Switch Average Card Profile

Note. p-values are taken from bootstrap Kolmogorov-Smirnov test (1,000 resamples).

ersion

	Estimate	Std. Error	t-value	p-value
h1.(Intercept)	1.4804	.0370	39.9968	.0000
h1.Tenure	.0085	.0013	6.3989	.0000
h1.Switcher	1335	.0493	-2.7059	.0068
h1.Months fr Switch : $-5$	0393	.0501	7856	.4321
h1.Months fr Switch : –4	0511	.0499	-1.0247	.3055
h1.Months fr Switch : $-3$	0367	.0501	7320	.4642
h1.Months fr Switch : $-2$	0063	.0505	1245	.9009
h1.Months fr Switch : $-1$	.0250	.0509	.4903	.6239
h1.Months fr Switch : 0	.0573	.0516	1.1103	.2669
h1.Months fr Switch : 1	.1114	.0526	2.1174	.0342
h1.Months fr Switch : 2	.0790	.0522	1.5142	.1300
h1.Months fr Switch : 3	.0687	.0522	1.3173	.1877
h1.Months fr Switch : 4	.0812	.0525	1.5456	.1222
h1.Months fr Switch : 5	.0189	.0515	.3680	.7129
h1.Switcher $\times$ Months fr Switch : -5	0158	.0687	2301	.8180
h1.Switcher $\times$ Months fr Switch : -4	0708	.0680	-1.0412	.2978
h1.Switcher $\times$ Months fr Switch : -3	1479	.0677	-2.1836	.0290
h1.Switcher $\times$ Months fr Switch : -2	7375	.0657	-11.2345	.0000
h1.Switcher $\times$ Months fr Switch : -1	.1643	.0714	2.3007	.0214
h1.Switcher $\times$ Months fr Switch : 0	1.1440	.1077	10.6174	.0000
h1.Switcher $\times$ Months fr Switch : 1	1.0999	.1105	9.9586	.0000
h1.Switcher $\times$ Months fr Switch : 2	1.0992	.1084	10.1397	.0000
h1.Switcher $\times$ Months fr Switch : 3	.9672	.0986	9.8051	.0000
h1.Switcher $\times$ Months fr Switch : 4	.9391	.0978	9.5992	.0000
h1.Switcher $\times$ Months fr Switch : 5	.9511	.0947	10.0450	.0000
h2.(Intercept)	.3721	.0381	9.7605	.0000
h2.Balance	.0002	.0000	75.3268	.0000
h2.Utilization	7081	.0180	-39.4148	.0000
h2.Spending Amount	.0008	.0000	131.1278	.0000
h2.Merchant APR	8939	.1321	-6.7660	.0000
h2.Cash APR	-1.9690	.1309	-15.0435	.0000
h2.Charge-off Rate	4501	.1042	-4.3213	.0000
h2.Switcher	.0155	.0335	.4634	.6430
h2.Months fr Switch : –5	0041	.0330	1244	.9010
h2.Months fr Switch : –4	.0455	.0330	1.3800	.1676
h2.Months fr Switch : $-3$	.0098	.0330	.2958	.7674
h2.Months fr Switch : $-2$	.0206	.0329	.6260	.5313
h2.Months fr Switch : $-1$	.0181	.0328	.5508	.5818
h2.Months fr Switch : 0	0084	.0328	2562	.7978
h2.Months fr Switch : 1	.0207	.0328	.6324	.5271
h2.Months fr Switch : 2	0186	.0329	5660	.5714
h2.Months tr Switch : 3	0224	.0330	6783	.4976
h2.Months fr Switch : 4	0130	.0331	3940	.6936
h2.Months fr Switch : 5	.0237	.0331	.7152	.4745
h2.Switcher $\times$ Months fr Switch : -5	0201	.0474	4247	.6711
h2.Switcher $\times$ Months fr Switch : -4	0748	.0474	-1.5770	.1148
h2.Switcher $\times$ Months fr Switch : $-3$	0048	.0474	1012	.9194
n2.Switcher $\times$ Months tr Switch : -2	0495	.0484	-1.0221	.3067
h2.Switcher $\times$ Months fr Switch : -1	.0576	.0468	1.2316	.2181
h2.Switcher $\times$ Months fr Switch : 0	6508	.0461	-14.1062	.0000
h2.Switcher $\times$ Months fr Switch : 1	4074	.0463	-8.7986	.0000
h2.Switcher $\times$ Months fr Switch : 2	4349	.0465	-9.3490	.0000
h2.Switcher $\times$ Months fr Switch : 3	3933	.0467	-8.4234	.0000
h2.Switcher $\times$ Months fr Switch : 4	3683	.0467	-7.8831	.0000
h2.Switcher $\times$ Months fr Switch : 5	4443	.0468	-9.4871	.0000
NL OI				

Note. \*\*\* p < .001, \*\* p < .01, \*p < .05. The prefix of h1 indicates the estimation of the probability of not-forgetting a repayment (the first component of the model). The prefix of h2 indicates the estimation of latent repayment given not forgetting a repayment (the second component of the model).

	Dependent varia	ıble
_	Post - Switch	Log(Repayment)
	OLS	2SLS
	(1)	(2)
Balance	00000	.0002***
	(.00000)	(.00000)
Utilization	.006	443***
	(.004)	(.014)
Spending Amount	00001***	.001***
	(.00000)	(.00000)
Merchant APR	.916***	864***
	(.027)	(.101)
Cash APR	930***	-2.316***
	(.027)	(.101)
Charge - off Rate	208***	-1.236***
	(.031)	(.117)
Switching Rate	.950***	
	(.004)	
Post - Switch		553***
		(.015)
Constant	.117***	5.376***
	(.006)	(.025)
Observations	139,516	139,516
R <sup>2</sup>	.316	.294
Adjusted R <sup>2</sup>	.315	.294
Residual Std. Error (df = $139508$ )	.378	1.412
F Statistic	$9,186.110^{***}$ (df = 7; 139508)	

Table 7. Coefficient Estimates from instrumental variable Est
---

Note. \*\*\* p < .001, \*\* p < .01, \*p < .05.

1	
2	
4	
5	
6 7	
, 8	
9	
10	
12	
13	
14	
16	
17	
18	
20	
21	
22	
23 24	
25	
26	
27 28	
29	
30	
31	
33	
34	
35	
37	
38	
39 ⊿0	
40 41	
42	
43	
44	
46	
47 49	
40 49	
50	
51 52	
52 53	
54	
55	
56 57	
58	
59	
60	

Table 8: Experiment design
----------------------------

	Minimum payment amount		
Full repayment prompt	Included	Excluded	
Excluded	Control: Minimum included, full repayment prompt omitted	Omit Minimum: Minimum excluded, full repayment prompt omitted	
Included	N = 181 Include Prompt: Minimum included, full repayment prompt given N = 173	N = 176 Omit and Prompt: Minimum excluded, full repayment prompt given N = 169	
Table 9: Experin	nent Repayments Means [95	% Confidence Intervals]	

	Minimum payment amount					
Full repayment prompt	Included	Excluded				
Excluded	£376 [£316–£436]	£500 [£439-£561]				
Included	£520 [£458–£581]	£569 [£507-£632]				
Note. Mean repayments [95% confidence intervals].						

	Dependent variable:							
			Repayment in £					
	(1)	(2)	(3)	(4)	(5)			
Full Repayment Prompted	106.910***	103.676***	176.690**	77.041**	98.752**			
	(45.553 - 168.267)	(42.724 - 164.629)	(60.892 - 292.487)	(26.890 - 127.191)	(31.508 – 165.995)			
Minimum Payment Omitted	87.783*	83.343*	173.814**	72.653**	88.837*			
	(26.436 – 149.131)	(22.373 – 144.313)	(57.924 - 289.704)	(22.583 - 122.724)	(21.736 – 155.937)			
Card User		115.011***	219.800***					
		(46.903 – 183.119)	(105.209 - 334.391)					
Full Repayment Prompted x Card User			-98.691					
			(-234.792 - 37.410)					
Minimum Payment Omitted x Card User			-123.214					
			(-259.398 - 12.969)					
Full Repayer				482.671***	523.955***			
				(432.167 – 533.175)	(437.072 – 610.838)			
Full Repayment Prompted x Full Repayer					-47.997			
					(-149.040 - 53.046)			
Minimum Payment Omitted x Full Repayer					-35.198			
					(-136.094 - 65.697)			
Constant	393.907***	314.590***	239.213***	202.619***	184.839***			
	(341.403 – 446.411)	(244.418 – 384.761)	(142.719 – 335.706)	(155.342 – 249.896)	(128.546 - 241.132)			
Observations	699	699	699	699	699			
R <sup>2</sup>	.027	.042	.049	.354	.355			
Adjusted R <sup>2</sup>	.025	.038	.042	.351	.350			
Residual Std. Error	413.735 (df = 696)	410.808 (df = 695)	409.918 (df = 693)	337.511 (df = 695)	337.671 (df = 693)			
F Statistic	9.775*** (df = 2; 696)	$10.261^{***}$ (df = 3; 695)	$7.188^{***}$ (df = 5; 693)	$126.750^{***}$ (df = 3; 695)	$76.246^{***}$ (df = 5; 693)			
	Neter Internals on	0.05% CIa $n < 0.5%$ $n < 0.5%$	1.** = < 0.05.*** = < 0.05.					
	Note: Intervals ar	p < .05; p < .05; p < .05	J1; ** p < .005; *** p < .0	01				

Table 10: Repayment Regression Estimates Including Controls for Card Usage

Supplementary Web Appendices for "Default Effects of Credit Card Minimum Payments"	
Hiroaki Sakaguchi, Neil Stewart, John Gathergood, Paul Adams, Benedict Guttman-Kenney,	
Lucy Hayes, Stefan Hunt	
A Characteristics of Switchers	2
B Multinomial Logit Model of the Effect of Switching to a Minimum Automatic Repayment	6
C Logit Model of Manual Repayments After Switching to a Minimum Automatic Repayment	9
D Supplemental Materials for Matching Analysis	11
E Supplemental Materials for Lender-Induced Switching Sample	12
F Conditional Estimation	14
G Type II Tobit Model	16
H Lender-Induced Switching Sample	18
I Details of Excess Interest Cost Simulation	22
J Details of Simulation for Total Cost Estimate	23
K Supplementary Analysis for the Experiment	24

These materials have been supplied by the authors to aid in the understanding of their paper.

The AMA is sharing these materials at the request of the authors.

### Appendix A CHARACTERISTICS OF SWITCHERS

Table W1 compares socio-economic statistics across card holders switching to different types of automatic repayment. To do so, we retrieved census records from the UK National Census for 2011 which includes detailed household information. (5% sample of raw data are available for researchers via the UK Office for National Statistics.) In our field data, card holders across 2,994 different postcode districts while the census statistical unit is smaller, 8,436 Middle-super output areas (MSOA). We weighted averaged the socio-economic variables across MSOAs within each postcode districts, and matched with postcode districts where card holders locate.

Those switching to minimum automatic payment are disproportionately drawn from localities with on average lower incomes, education levels and house prices, and higher rates of jobless claimants and claimants of free school meals for children, which is a proxy measure of UK social security benefit receipt.

Table	W1:	Comparison	in	Socio-Ecnomic	Variables	Among	Cards	Switching	to	Different
Autop	ay Ty	pes								

	Switch to Min-Auto	Switch to Fixed-Auto	Switch to Full-Auto
Mean house price (GBP)	219,879	201,129	235,457
	()	(0.000)	(0.000)
Jobless claimants (%)	2.45	2.64	2.23
	()	(0.000)	(0.000)
Mean weekly income (GBP)	763.46	734.18	786.81
	(—)	(0.000)	(0.000)
Education level 4+ (%)	29.50	27.90	30.74
	(—)	(0.000)	(0.000)
Mean Acorn category (1-6)	3.16	3.25	3.05
	(—)	(0.000)	(0.000)
Free-school meal (%)	12.25	13.27	11.27
	(—)	(0.000)	(0.000)

Note. The numbers in the parentheses are p-value taken from the t-test with Switch to Min-Auto cards. Acorn category is a postcode-level affluence score constructed by the UK statistics authority. The lower the Acorn category the higher the affluence.



nts (GL .payments Figure W1: The distribution of repayments in the months where a manual repayment was made. Each bar is a 1-penny-wide bin.

Seeing repayments cluster at prominent numbers is common (Albers, 1997) and, more generally, such a tendency for people to prefer prominent numbers has been evident in both experimental (Whynes, Philips, and Frew, 2005) and field data (Ball, Torous, and Tschoegl, 1985; Christie and Schultz, 1994; Converse and Dennis, 2018; Harris, 1991; Kandel, Sarig, and Wohl, 2001). However, after switching to automatic payments, the proportion covered by these top four payments is almost eliminated, dropping to only 2.5% (Web Appendix B confirms this pattern in a multinomial logistic regression, which controls for balance, credit limit, how much of the credit limit is utilized, and credit score).

Interestingly, in the rare months in which individuals make additional manual repayments in the range between the minimum and full, the distribution of repayments remains dominated by prominent numbers (see Figure W1 in Web Appendix A). This suggests that, because of inattention, people do not have to take a manual repayment decision, and thus cannot be attracted by psychologically prominent numbers as repayments. Yet when they do pay attention in the post-switch months where there is a manual repayment, people are just as attracted to prominent number repayments as pre-switch. Web Appendix C shows conditional upon a manual repayment being made, the probability of a full repayment is larger after switch than before switch (using a logistic regression with card profile controls), providing further evidence that people's switching to a minimum automatic repayment is unlikely to be due to their financial inability to repay the bill.

Journal of Marketing Research



Figure W2: Histograms of the change in monthly repayments before and after cards switch to a minimum automatic repayment ("Min-Auto"), fixed automatic repayment ("Fixed-Auto"), and full automatic repayment ("Full-Auto"). The unit of observation is a card-month (total repayments to a particular card in a particular month). For the absolute amounts, each bar is a 1-penny-wide bin. The sample consists of monthly repayments made between an account opening date or the beginning of the data period (Jan. 2013) whichever is latter and the end of the data period (Nov. 2014). The sample was restricted to cards switching to automatic repayments during the data period. The number of months contributing to the figure differs among cards while the number of months included in before and after periods differs within a card. The card-months with no balance were excluded.

## Appendix B MULTINOMIAL LOGIT MODEL OF THE EFFECT OF SWITCHING TO A MINIMUM AUTOMATIC REPAYMENT

To confirm the findings in the top panels of Figure W2 (i.e., change in repayments before and after switching to a minimum automatic repayment), we fitted a multinomial logit model of repayments to control for card characteristics (Equation W1). The model estimates the probability that card holder i's repayment at time t falls into each of seven categories: Missed, Minimum, Larger 1, Larger 2, Larger 3, Larger 4, and Full. We use this categorical classification because "missed", "minimum", and "full" are discrete repayment types distinguishable from other monetary amounts. Missed includes repayments less than the required minimums. Minimum includes repayments which are equal to or greater than the required minimum and less than the required minimum plus  $\pounds 10$ . This  $\pounds 10$  allowance is for including repayments slightly larger than the minimum, which were possibly caused by rounding up of the required minimum. Larger 1 includes repayments which are not included in Missed and Minimum and are less than 25% of the balance. Larger 2 includes repayments equal to or more than 25% of the balance and less than 50% of the balance. Larger 3 includes repayments equal to or more than 50% of the balance and less than 75% of the balance. Larger 4 includes repayments equal to or more than 75% of the balance and less than the full balance. Full includes repayments equal to or more than the full balance. If a repayment was equal to the required minimum which was also equal to the full balance, the repayment was included in Full. We included Balance, Credit Limit, Utilization (how much of the credit limit is utilized), and Charge-off Rate (a monotonic transform of credit score). The independent variable of interest is Post-Switch which is a dichotomous variable having a value of 1 if a card had started using a minimum automatic repayment, otherwise having a value of 0. We make the standard assumption that the observation of repayment category k follows the Bernoulli distribution with mean P(Repayment Category<sub>i,t+1</sub> = Category k).

$$\log\left(\frac{P(\text{Repayment Category}_{i,t+1} = \text{Category k})}{P(\text{Repayment Category}_{i,t+1} = \text{Missed})}\right) = \beta_0 + \beta_1 \text{Balance}_{i,t,k} + \beta_2 \text{Credit Limit}_{i,t,k} + \beta_3 \text{Utilization}_{i,t,k} + \beta_4 \text{Spending Amount}_{i,t,k} + \beta_5 \text{Merchant APR}_{i,t,k} + \beta_6 \text{Cash APR}_{i,t,k} + \beta_7 \text{Charge-off Rate}_{i,t,k} + \beta_8 \text{Post-Switch}_{i,t,k}$$
(W1)

Figure W3 shows the results. Table W2 reports the coefficients. Consistent with the finding in the top panels of Figure W2, after setting a minimum automatic repayment the likelihood of paying only the minimum within the month increases sharply from .204, 95% CI [.188, .221] to .591, 95% CI [.578, .603]. The likelihood of other levels of repayment decreases: the likelihood of missing the minimum payment decreases sharply from .112, 95% CI [.105, .119] to .016, 95% CI [.014, .018], while the likelihood of repayment in Larger 1 category decreased from .276, 95% CI [.265, .287] to .108, 95% CI [.102, .113] and the likelihood of paying the full balance halves from .243, 95% CI [.228, .258] to .178, 95% CI [.167, .190]. Thus the results of the multinomial logit regression shown in Figure W3 confirms the pattern in the simple histogram in the top panels of Figure W2: after switching to a minimum automatic repayment, but are also less likely to make larger repayments.



Figure W3: The fraction of balance repaid each month before and after cards switch to a minimum automatic repayment. Repayment category probabilities are from a multinomial logit model. Error bars are 95% confidence intervals. The standard errors were corrected by clustering by cards and months.

confide.

Table W2: Coefficients for Equation W1

	Estimate	LL	UL	Clustered SE	z-value	p-value	
Intercept:Minimum	1.428	0.696	2.159	0.373	3.823	0.00013	**:
Intercept:Large1	2.336	1.618	3.054	0.366	6.378	0.00000	**:
Intercept:Large2	2.210	1.474	2.947	0.376	5.880	0.00000	**:
Intercept:Large3	1.859	1.105	2.612	0.385	4.833	0.00000	**:
Intercept:Large4	1.797	0.991	2.603	0.411	4.370	0.00001	**:
Intercept:Full	5.118	4.397	5.839	0.368	13.919	0.00000	**:
Balance:Minimum	0.000	0.000	0.000	0.000	-1.819	0.06889	
Balance:Large1	0.000	0.000	0.000	0.000	-0.694	0.48788	
Balance:Large2	0.000	0.000	0.000	0.000	-5.394	0.00000	**:
Balance:Large3	0.000	0.000	0.000	0.000	-5.837	0.00000	**:
Balance:Large4	0.000	0.000	0.000	0.000	-6.141	0.00000	**:
Balance:Full	-0.001	-0.001	-0.001	0.000	-18.351	0.00000	**:
Credit Limit:Minimum	0.000	0.000	0.000	0.000	5.936	0.00000	**:
Credit Limit:Large1	0.000	0.000	0.000	0.000	6.595	0.00000	**
Credit Limit:Large2	0.000	0.000	0.000	0.000	3.765	0.00017	**
Credit Limit:Large3	0.000	0.000	0.000	0.000	3 678	0.00023	**
Credit Limit:Large4	0.000	0.000	0.000	0.000	3 753	0.00017	**
Credit Limit:Full	0.000	0.000	0.000	0.000	1 581	0.11396	
Utilisation: Minimum	0.000	0.713	1 161	0.114	8 202	0.00000	**
Utilisation:Large1	1 072	0.848	1.101	0.114	0.202	0.00000	**
Utilisation: Large?	-0.339	-0.627	-0.050	0.147	-2 302	0.00000	*
Utilisation:Large3	0.562	-0.027	0.050	0.170	3 137	0.02134	**
Utilisation:Large4	-0.302	1 170	0.473	0.179	-5.157	0.00171	**
Utilisation:Eull	-0.621	-1.170	-0.473	0.178	-4.021	0.00000	**
Spanding Amount: Minimum	-2.133	-2.408	-1.639	0.140	-13.224	0.00000	**
Spending Amount. Minimum	0.000	0.000	0.000	0.000	-5.042	0.00000	**
Spending Amount:Larger	0.000	0.000	0.000	0.000	3.404	0.00007	**
Spending Amount:Large2	0.001	0.001	0.001	0.000	15.994	0.00000	**
Spending Amount:Larges	0.001	0.001	0.001	0.000	15.072	0.00000	**
Spending Amount:Eull	0.001	0.001	0.001	0.000	24.027	0.00000	**
Manchant ADD Minimum	0.001	0.001	0.002	0.000	24.057	0.00000	-
Merchant APR:Minimum	1.43/	0.074	2.801	0.696	2.000	0.03884	
Merchant APR:Large1	0.818	-0.491	2.127	0.008	1.225	0.22060	
Merchant APR:Large2	1.103	-0.270	2.595	0.731	1.591	0.11159	
Merchant APR:Larges	0.302	-1.297	1.901	0.810	0.370	0.71150	
Merchant APR:Large4	-0.084	-1.894	1.720	0.923	-0.091	0.92757	÷+
Cosh ADD: Minimum	-3.381	-4./48	-2.014	0.098	-4.848	0.00000	**
Cash ADD L arg 1	-0.231	-0.933	-3.30/	1.370	-4.304	0.00001	**
Cash APR:Large1	-8./44	-11.434	-0.054	1.372	-0.3/1	0.00000	**
Cash ADD Large2	-10.501	-13.231	-1./31	1.403	-7.484	0.00000	**
Cash ADD Large 4	-10.446	-13.323	-1.30/	1.469	-7.112	0.00000	~~ **
Cash APR E II	-10.741	-13.030	-/.84/	1.4//	-1.213	0.00000	~~ ~~
Cash APR:Full	-9.331	-11.957	-6.705	1.340	-6.965	0.00000	**
Charged-off Rate:Minimum	-7.368	-8.863	-5.874	0.763	-9.661	0.00000	**
Charged-off Rate:Large1	-10.884	-12.546	-9.221	0.848	-12.833	0.00000	**
Charged-off Rate:Large2	-19.373	-24.033	-14.714	2.377	-8.149	0.00000	
Charged-off Rate:Large3	-22.373	-29.545	-15.201	3.659	-6.114	0.00000	**:
Charged-off Rate:Large4	-15.499	-20.838	-10.161	2.724	-5.690	0.00000	**:
Charged-off Rate:Full	-32.797	-39.086	-26.507	3.209	-10.220	0.00000	**:
Post-Switch:Minimum	2.980	2.830	3.130	0.077	38.943	0.00000	**:
Post-Switch:Large1	0.979	0.831	1.127	0.076	12.952	0.00000	**
Post-Switch:Large2	1.397	1.213	1.581	0.094	14.875	0.00000	**
Post-Switch:Large3	1.529	1.339	1.719	0.097	15.786	0.00000	**
Post-Switch:Large4	1.631	1.376	1.887	0.130	12.528	0.00000	**
Post-Switch:Full	1.607	1.437	1.778	0.087	18.452	0.00000	**
Log-Likelihood	-223,613.80						
Num. of Observations	186,661						

Note. \*\*\* p < 0.001, \*\* p < 0.01, \* p < 0.05. The standard errors were corrected by clustering by card and month.

# Appendix C LOGIT MODEL OF MANUAL REPAYMENTS AFTER SWITCHING TO A MINIMUM AUTOMATIC REPAYMENT

We examine how the probability of card holders repaying in full changes in months with a manual repayment (i.e., months in which card holders paid attention to a repayment) before and after switching to a minimum automatic repayment. We conducted a logistic regression (Equation W2). The dependent variable is a dichotomous indicator variable taking the value of 1 if the card i was repaid in full at time t (i.e., fraction equal to or greater than 1) and 0 otherwise. Balance, Credit Limit, Utilization, Spending Amount, Merchant APR, Cash APR, and Charge-off Rate were included as continuous control variables. The independent variable of interest is Post-Switch which is a dichotomous variable having a value of 1 if a card had started using a minimum automatic repayment, otherwise having a value of 0. The data were restricted to repayments above the minimum (i.e., card months with manual repayments above the minimum before switch and card months with an additional manual repayment over and above the automatic repayment of the minimum after switch).

$$\log \left(\frac{P(\text{Full Repayment}_{i,t+1})}{1 - P(\text{Full Repayment}_{i,t+1})}\right) = \beta_0 + \beta_1 \text{Balance}_{i,t} + \beta_2 \text{Credit Limit}_{i,t} + \beta_3 \text{Utilization}_{i,t} + \beta_4 \text{Spending Amount}_{i,t} + \beta_5 \text{Merchant APR}_{i,t} + \beta_6 \text{Cash APR}_{i,t} + \beta_7 \text{Charge-off Rate}_{i,t} + \beta_8 \text{Post-Switch}_{i,t}$$
(W2)

Figure W4 shows the model prediction for the probability of a full repayment, conditional that a manual repayment is made. The results show that, when card holders make a manual repayment over a minimum automatic repayment, they are more likely to repay in full than before they switch, indicating that the absence of prominent number repayments after switch is unlikely to be due to financial difficulty and is more consistent with the inattention account.



Figure W4: Using only repayments above the minimum, the probability of a full repayment before and after cards switch to a minimum automatic repayment. The probabilities are from a logistic model. Error bars are 95% confidence intervals. The standard errors were corrected by clustering by card and month.

Table w 5: Coefficients for Equation w2								
	Estimate	LL	UL	Clustered SE	z-value	p-value		
Intercept	1.689	1.443	1.934	0.125	13.495	0.00000	***	
Balance	-0.001	-0.001	0.000	0.000	-13.693	0.00000	***	
Credit Limit	0.000	0.000	0.000	0.000	-6.006	0.00000	***	
Utilization	-2.917	-3.120	-2.714	0.103	-28.189	0.00000	***	
Spending Amount	0.001	0.001	0.001	0.000	24.144	0.00000	***	
Merchant APR	-4.183	-5.244	-3.123	0.541	-7.731	0.00000	***	
Cash APR	-0.422	-1.447	0.602	0.523	-0.808	0.41896		
Charge-off Rate	-6.636	-8.773	-4.499	1.090	-6.087	0.00000	***	
Post-Switch	0.444	0.388	0.501	0.029	15.447	0.00000	***	
Log-Likelihood	-51,205.73						-	
Num. of Observations	103,668							

Table W3. Coefficients for Equation W2

s \*\*\*p < 0.01, <sub>P</sub> Note. \*\*\*p < 0.001, \*\*p < 0.01, \*p < 0.05. The standard errors were corrected by clustering by card and month.

# Appendix D SUPPLEMENTAL MATERIALS FOR MATCHING ANALYSIS

Tuble II II Mutering Vullaufon on Socie Leonomie Vullaufes								
	Switcher	Synthetic Control	p-value					
Mean house price (GBP)	216,829	221,613	0.866					
Jobless claimants (%)	2.44	2.39	0.879					
Mean weekly income (GBP)	758.89	784.41	0.629					
Education level 4+ (%)	29.11	29.77	0.820					
Mean Acorn category	3.17	3.02	0.289					
Free-school meal (%)	12.25	10.29	0.130					

## Table W4: Matching Validation on Socio-Economic Variables

Note. p-values were taken from t-test.



Figure W5: Notched box-plot on median balances before (synthetic) switch. The notches extends to approximately 95% confidence intervals around the median. The boxes show interquartile ranges.

### Appendix E SUPPLEMENTAL MATERIALS FOR LENDER-INDUCED SWITCHING SAMPLE

The difference-in-differences estimates based upon the synthetic control group suggest that the reduction in repayments after switching to minimum automatic repayments is unlikely to be due to an intention of the part of card holders to pay only the minimum (or close to only the minimum) in future months. While we cannot test this assumption further, for example through a randomized-control trial of minimum automatic repayments in which card holders are exogenously assigned to switching, a feature of lenders' account management practices introduces a degree of exogeneity in switching for a subset of accounts.

Specifically, we focus on a subsample of accounts where lenders are more likely to have played a role in setting-up minimum automatic repayments. In the data, many card holders received refunds of missed payment fees in return for switching to minimum automatic repayments. This occurs when card holders contact their credit card company about the fee (often to raise a complaint) and are induced by their card provider to set up the automatic repayment to avoid forgetting a repayment in future, in return for a fee refund. Consequently, some of the refunded cards switched to the automatic repayment while others did not. Those switchers were likely to set up the automatic repayment due to an arguably exogenous inducement by card providers rather than ongoing intention to repay only the minimum.

Adopting this, we extracted cards setting up a minimum automatic repayment after the refund of a late payment fee (within two months after a refund) and matched them to a synthetic control group. In the matching, each switcher is matched to a card which received the refund in the same calendar month but did not switch. In addition, the matching balances covariate values between refund-triggered switchers and the control cards. Using this matched sample, we replicated our main analysis including the single-hurdle difference-in-differences model. As we restrict to cards receiving a refund only, the sample in this analysis is much smaller (6,870 observations, 9.4% of observations from the single-hurdle selection model sample).

Results are shown in Web Appendix H. Table W7 indicates that the pre-switch profile of card holders in the switcher and synthetic control group are closely matched. In addition, the pre-switch repayment distributions are similar between the switchers and the synthetic control group (panels A and C of Figure W9). A plot of the pre- and post-switch distributions of repayments for the switchers (panels A and B of Figure W9) resembles that seen in panels A and B of Figure W2 in the illustrative results (i.e., the sharp increase of the proportion of minimum repayments after switch, eliminating payments at prominent values). On the other hand the pre- and post-switch distributions are similar to the synthetic control group (panels C and B of Figure W9).

A regression with the single-hurdle selection model was conducted on the refund-triggered synthetic matched sample. Figure W6 shows the model predictions for the probability of forgetting a repayment with mean covariate values. The probability of forgetting a repayment jumps at two months before (synthetic) switch for both groups because we matched switchers with non-switchers receiving a refund of the late payment fee in the same calendar month. After (synthetic) switch, the probability is nearly zero for switchers while the synthetic control group keeps 3-4% level even after synthetic switch.

The coefficient estimates from the regression show that, similar to the results of the main regression, the Switcher  $\times$  Months from Switch interaction terms indicate that the switch reduces repayments of refund-triggered switchers but does not impact repayments of the synthetic control group (see Table W8 and Figure W10). This suggests that the effect of a minimum automatic repayment is unlikely to be due to card holders' intentions to make small repayments



Figure W6: Predictions for the probability of forgetting a repayment from the single-hurdle selection model (refund-triggered cards). The shadowed areas represent 95% confidence intervals obtained by repeating the regression with bootstrapped samples. The iteration is continued until 1,000 regressions successfully converged. Matched pairs were resampled in the bootstrap.

#### Appendix F CONDITIONAL ESTIMATION

We conducted an OLS with Equation W3 on the sample consisting of positive repayments (i.e., conditional on not-missing the repayment).

$$\log(\text{Repayment}_{i,t}) = \beta_0 + \beta_1 \text{Switcher}_i + \beta_2^T D_{i,t} + \beta_3^T \text{Swither}_i \times D_{i,t} + \beta_4^T x_{i,t} + \varepsilon_{i,t}$$
(W3)

where Switcher<sub>i</sub> is a dichotomous variable having a value of 1 if the card i switches to a minimum automatic repayment, otherwise 0.  $D_{i,t}$  is a vector of dummies specifying months-from-switch (11 levels from 5 to 5).  $x_{i,t}$  is a vector of covariates including balance, utilization, spending amount, merchant APR, cash APR, and charge-off rate (all are month-card level variables). The error term,  $\varepsilon_{i,t}$ , is assumed to be normally distributed.  $\beta_0$ ,  $\beta_1$ ,  $\beta_2$ ,  $\beta_3$ , and  $\beta_4$  are a vector of coefficients with the length of 1, 1, 11, 11, and 6, respectively.

Figure W7 shows the coefficient estimates and corresponding 95% confidence intervals for Switcher  $\times$  Months from Switch interactions. The full regression table is shown in Table W5. The results confirm those in the main analysis shown in Figure 2 and Table 6.



Figure W7: Coefficient estimates and confidence intervals for the effect of switchers switching to a minimum automatic repayment. Error bars are 95% confidence intervals. The coefficients were estimated by OLS with Equation W3 on the sample conditional on positive payments.

	Estimate	Std. Error	t-value	p-value
(Intercept)	5.4320	0.0388	140.0362	0.0000
Balance	0.0002	0.0000	73.5639	0.0000
Utilization	-0.6998	0.0184	-38.1146	0.0000
Spending Amount	0.0008	0.0000	130.2210	0.0000
Merchant APR	-1.0630	0.1349	-7.8784	0.0000
Cash APR	-1.9281	0.1321	-14.5934	0.0000
Charge-off Rate	-0.2424	0.1241	-1.9531	0.0508
Switcher	0.0183	0.0341	0.5379	0.5907
Months fr Switch : -5	-0.0056	0.0335	-0.1659	0.8683
Months fr Switch : –4	0.0443	0.0335	1.3217	0.1863
Months fr Switch : -3	0.0103	0.0335	0.3080	0.7581
Months fr Switch : -2	0.0192	0.0334	0.5756	0.5649
Months fr Switch : -1	0.0141	0.0333	0.4241	0.6715
Months fr Switch : 0	-0.0073	0.0333	-0.2200	0.8258
Months fr Switch : 1	0.0200	0.0333	0.6001	0.5484
Months fr Switch : 2	-0.0219	0.0334	-0.6572	0.5110
Months fr Switch : 3	-0.0256	0.0335	-0.7649	0.4444
Months fr Switch : 4	-0.0158	0.0336	-0.4703	0.6382
Months fr Switch : 5	0.0224	0.0336	0.6655	0.5057
Switcher $\times$ Months fr Switch : -5	-0.0134	0.0482	-0.2782	0.7808
Switcher $\times$ Months fr Switch : -4	-0.0677	0.0482	-1 4025	0.1608
Switcher $\times$ Months fr Switch : $-3$	0.0113	0.0483	0.2338	0.8151
Switcher $\times$ Months fr Switch : $-2$	0.0074	0.0496	0.1481	0.8823
Switcher $\times$ Months fr Switch : $-1$	0.0685	0.0476	1.4400	0.1499
Switcher $\times$ Months fr Switch : 0	-0.6746	0.0468	-14 4213	0.0000
Switcher $\times$ Months fr Switch : 1	-0.4218	0.0469	-8.9923	0.0000
Switcher $\times$ Months fr Switch : 2	-0.4465	0.0471	-9.4831	0.0000
Switcher $\times$ Months fr Switch : 3	-0.4057	0.0473	-8.5802	0.0000
Switcher $\times$ Months fr Switch : 4	-0.3798	0.0473	-8.0243	0.0000
Switcher $\times$ Months fr Switch : 5	-0.4587	0.0474	-9.6681	0.0000
Num. Observations	67,475			
Adjusted R <sup>2</sup>	0.3296			
ore. p<0.001, p<0.01, p	< 0.05.			

Ta mple

Journal of Marketing Research

### Appendix G TYPE II TOBIT MODEL

As a robustness check, we conducted an exponential type II Tobit estimation. The sample used is identical to that in the main analysis.

Figure W8 shows the coefficient estimates and corresponding 95% confidence intervals for Switcher×Months from Switch interactions taken from the exponential type II Tobit estimation. The full regression table is shown in Table W6. The results confirm those in the main analysis shown in Figure 2 and Table 6.



Figure W8: Coefficient estimates and confidence intervals for the effect of switchers switching to a minimum automatic repayment. Error bars are 95% confidence intervals. The coefficients were estimated by the exponential type II Tobit model.

Jersion

	Estimate	Std. Error	t-value	p-valı
h1.(Intercept)	1.4501	0.0365	39.7755	0.000
h1.Tenure	0.0069	0.0014	5.1283	0.000
h1.Switcher	-0.0985	0.0482	-2.0445	0.040
h1.Months fr Switch : $-5$	-0.0322	0.0493	-0.6536	0.513
h1.Months fr Switch : –4	-0.0555	0.0492	-1.1278	0.259
h1.Months fr Switch : $-3$	-0.0318	0.0493	-0.6446	0.519
h1.Months fr Switch : -2	-0.0039	0.0497	-0.0781	0.937
h1.Months fr Switch : -1	0.0310	0.0500	0.6189	0.530
h1.Months fr Switch : 0	0.0279	0.0511	0.5466	0.584
h1.Months fr Switch : 1	0.1037	0.0518	2.0028	0.045
h1.Months fr Switch : 2	0.0590	0.0516	1.1427	0.253
h1.Months fr Switch : 3	0.0388	0.0518	0.7490	0.453
h1.Months fr Switch : 4	0.0659	0.0519	1.2696	0.204
h1.Months fr Switch : 5	-0.0062	0.0510	-0.1218	0.903
h1.Switcher $\times$ Months fr Switch : -5	-0.0274	0.0672	-0.4078	0.68
h1.Switcher $\times$ Months fr Switch : -4	-0.0724	0.0666	-1.0873	0.276
h1.Switcher $\times$ Months fr Switch : -3	-0.1468	0.0661	-2.2211	0.02
h1 Switcher $\times$ Months fr Switch : -2	-0.7186	0.0641	-11.2066	0.000
h1 Switcher $\times$ Months fr Switch : -1	0.1282	0.0699	1.8324	0.060
h1 Switcher $\times$ Months fr Switch : 0	1 2425	0 1041	11 9337	0.00
h1 Switcher $\times$ Months fr Switch : 1	1 1992	0.1061	11 3005	0.000
h1 Switcher $\times$ Months fr Switch : 2	1 2742	0.1026	12 4221	0.000
h1 Switcher $\times$ Months fr Switch : 3	1.1265	0.0038	12.4221	0.00
h1 Switcher $\times$ Months fr Switch : 4	1.0553	0.0936	11 2694	0.000
h1 Switcher $\times$ Months fr Switch : 5	1.0555	0.0930	11.2004	0.00
$h^2$ (Intercept)	0.4945	0.0907	12 2588	0.00
h2 Palance	0.4943	0.0403	75 6952	0.00
h2 Utilization	0.0002	0.0000	36 5670	0.00
h2 Sponding Amount	-0.7125	0.0195	240.0021	0.00
h2 Marshant ADD	0.0008	0.0000	240.0921	0.00
h2 Coch ADD	-1.0104	0.1362	-7.3110	0.00
h2 Channe off Data	-1.8702	0.1208	-14.6002	0.00
n2.Charge-off Kale	-0.4347	0.1104	-3.9387	0.00
h2.Switcher	0.0477	0.0362	1.31/3	0.18
h2.Months fr Switch : -5	0.0046	0.0360	0.1281	0.89
h2.Months fr Switch : –4	0.0561	0.0368	1.5229	0.12
h2.Months fr Switch : $-3$	0.0177	0.0364	0.4859	0.62
h2.Months fr Switch : $-2$	0.0218	0.0364	0.5982	0.54
h2.Months fr Switch : $-1$	0.0125	0.0364	0.3434	0.73
h2.Months fr Switch : 0	-0.0220	0.0367	-0.5996	0.54
h2.Months fr Switch : 1	-0.0016	0.0365	-0.0428	0.96
h2.Months fr Switch : 2	-0.0362	0.0367	-0.9869	0.32
h2.Months fr Switch : 3	-0.0385	0.0372	-1.0362	0.30
h2.Months fr Switch : 4	-0.0308	0.0368	-0.8368	0.40
h2.Months fr Switch : 5	0.0171	0.0372	0.4595	0.64
h2.Switcher $\times$ Months fr Switch : -5	-0.0151	0.0506	-0.2989	0.76
h2.Switcher $\times$ Months fr Switch : -4	-0.0537	0.0512	-1.0500	0.29
h2.Switcher $\times$ Months fr Switch : -3	0.0376	0.0508	0.7402	0.45
h2.Switcher $\times$ Months fr Switch : -2	0.2146	0.0509	4.2170	0.00
h2.Switcher $\times$ Months fr Switch : -1	0.0195	0.0508	0.3839	0.70
h2.Switcher $\times$ Months fr Switch : 0	-0.7810	0.0488	-16.0212	0.00
h2 Switcher $\times$ Months fr Switch $\cdot$ 1	-0.5283	0.0496	-10.6488	0.00
h2 Switcher $\times$ Months fr Switch $\cdot$ 2	-0.5592	0.0493	-11.3322	0.00
h2.5 witcher $\times$ Months fr Switch $\cdot$ 2	-0 5130	0.0409	-10 3022	0.00
h2.5 when $r > M$ on the frequencies $r = 4$	-0.5150	0.0498	0 7970	0.00
h2.5 witcher × Months fr Switch : 5	-0.4630	0.0490	-9./0/U	0.00
Num Observations	-0.5702	0.0499	-11.4180	0.00
INUITI. ODSETVATIONS	13,230			

Journal of Marketing Research

### Appendix H LENDER-INDUCED SWITCHING SAMPLE

In addition to the main analysis with the matched synthetic control group, this section further addresses a particular endogeneity concern that the decision to adopt automatic repayments might coincide with a decision to reduce future payments. If card holders switch with ongoing intention to reduce future repayments, we might falsely attribute the reduction in future payments as arising due to the switch to automatic repayments. In order to account for this concern, we exploit a feature of the data, where there is a (likely exogenous) inducement to set up a minimum automatic repayment. In the data many consumers receive a late payment fee after forgetting to pay their credit card bill. We see that 6.5% of late payment fees are refunded in our sample, and this occurs when card holders contact their credit card company to complain about the fee. Of those card holders who receive a refunded late payment fee, we see that about 10.5% go on to set up a minimum automatic repayment. These consumers are likely to have been prompted by their card provider to set up the automatic repayment to avoid the chance of further late payment fees rather than because of an ongoing intention to repay only the minimum. This is an arguably exogenous inducement to set up a minimum automatic repayment. Adopting this, we further restricted the sample to card holders setting up a minimum automatic repayment after the refund of a late payment fee (within two months) and matched them to a synthetic control group.

The method to create the synthetic control group is as follows. For each switching card, we extracted all non-switching cards which received a refund of the late payment fee in the same calendar month where the switching card received a refund (candidate cards). For the candidate cards, we set a synthetic switch month at one month later from the refund. Covariate values for six months before the (synthetic) switch month were averaged within the switcher and each of candidate cards. Then, one-to-one nearest neighbor matching was done based on the Mahalanobis distance in the averaged covariates. Finally, six card-month observations after the (synthetic) switch month were combined to the matched pre-switch data.

Table W7 shows balanced covariate values. Covariate values are well-balanced between refund-triggered switchers and the synthetic control group, except the charge-off rate. Figure W9 compares the distribution of repayments before and after (synthetic) switch between the refund-triggered switchers and the synthetic control group. The distribution is similar between two groups before (synthetic) switch (Panels A and C). However, the proportion of minimum repayments jumps from 20% to 60%, eliminating repayments at higher prominent values, after refund-triggered cards switch to a minimum automatic repayment, while the distribution is nearly unchanged from before to after synthetic switch for the synthetic control group (except the large proportion of missed payment in pre-switch distribution caused by the way of constructing the sample).

	Switcher	Synthetic Control	p-value
Ave. Balance	1,846.13	1,736.60	0.267
Ave. Credit Limit	5,720.44	5,639.04	0.800
Ave. Utilization	0.39	0.37	0.366
Ave. Spending	344.17	350.44	0.979
Ave. Merchant APR	0.19	0.19	0.945
Ave. Cash APR	0.25	0.25	0.616
Ave. Charge-off Rate	0.03	0.02	0.000
Card Tenure	8.33	8.27	0.709

Table W7: Comparison of Pre-Switch Average Card Profile (Refund-Triggered Cards)

Note. p-values are taken from the bootstrap Kolmogorov-Smirnov test (1,000 resamples).



Payment Category and Repayments (GBP)

Figure W9: Change in repayments before and after cards switch to a minimum automatic repayment (refund-triggered cards). For the absolute amounts, each bar is a 1-penny-wide bin.



Figure W10: Coefficient estimates and confidence intervals for the effect of refund-triggered switchers switching to a minimum automatic repayment. Error bars are 95% confidence intervals.

Journal of Marketing Research

Table W8: Coefficient Estimates from Single-Hurdle Selection Model (Refund-Triggered Cards)

·	Estimate	Std. Error	t-value	p-value	
h1.(Intercept)	1.6182	0.1298	12.4673	0.0000	***
h1.Tenure	0.0047	0.0039	1.1976	0.2311	
h1.Switcher	-0.2404	0.1706	-1.4089	0.1589	
h1.Months fr Switch : $-5$	0.1167	0.1856	0.6289	0.5294	
h1.Months fr Switch : -4	-0.3280	0.1624	-2.0199	0.0434	*
h1.Months fr Switch : $-3$	-0.4393	0.1587	-2.7685	0.0056	**
h1.Months fr Switch : $-2$	-1.6700	0.1451	-11.5076	0.0000	***
h1.Months fr Switch : -1	0.2333	0.1917	1.2167	0.2237	
h1.Months fr Switch : 0	0.0748	0.1829	0.4090	0.6825	
h1.Months fr Switch : 1	0.5463	0.2319	2.3557	0.0185	*
h1.Months fr Switch : 2	0.0978	0.1861	0.5257	0.5991	
h1.Months fr Switch : 3	0.1369	0.1894	0.7227	0.4698	
h1.Months fr Switch : 4	0.2336	0.1983	1.1779	0.2388	
h1.Months fr Switch : 5	0.0740	0.1869	0.3959	0.6922	
h1.Switcher $\times$ Months fr Switch : -5	-0.0937	0.2463	-0.3804	0.7036	
h1.Switcher $\times$ Months fr Switch : -4	0.0177	0.2210	0.0800	0.9362	
h1.Switcher $\times$ Months fr Switch : -3	-0.0122	0.2152	-0.0568	0.9547	
h1.Switcher $\times$ Months fr Switch : -2	0.1684	0.1990	0.8464	0.3973	
h1.Switcher $\times$ Months fr Switch : -1	0.1825	0.2637	0.6920	0.4890	
h1.Switcher $\times$ Months fr Switch : 0	4.0858	55.5345	0.0736	0.9414	
h1.Switcher $\times$ Months fr Switch : 1	0.7497	0.4195	1.7871	0.0739	
h1.Switcher $\times$ Months fr Switch : 2	0.9581	0.3343	2.8662	0.0042	**
h1.Switcher $\times$ Months fr Switch : 3	1.1433	0.3988	2.8670	0.0041	**
h1.Switcher $\times$ Months fr Switch : 4	1.0463	0.4049	2.5841	0.0098	**
h1.Switcher $\times$ Months fr Switch : 5	1.2024	0.3997	3.0082	0.0026	**
h2.(Intercept)	0.1823	0.1313	1.3889	0.1649	
h2.Balance	0.0002	0.0000	20.6059	0.0000	***
h2.Utilization	-0.5986	0.0621	-9.6473	0.0000	***
h2.Spending Amount	0.0010	0.0000	43.7406	0.0000	***
h2.Merchant APR	-2.2604	0.4858	-4.6526	0.0000	***
h2.Cash APR	-0.1602	0.4430	-0.3617	0.7176	
h2.Charge-off Rate	-0.8459	0.3827	-2.2103	0.0271	*
h2.Switcher	-0.1136	0.1058	-1.0738	0.2829	
h2.Months fr Switch : $-5$	-0.0331	0.1014	-0.3262	0.7443	
h2.Months fr Switch : -4	0.0180	0.1024	0.1759	0.8604	
h2.Months fr Switch : $-3$	0.0721	0.1027	0.7020	0.4827	
h2.Months fr Switch : $-2$	0.0727	0.1206	0.6033	0.5463	
h2.Months fr Switch : -1	0.3329	0.0999	3.3326	0.0009	***
h2.Months fr Switch : 0	0.0699	0.1016	0.6880	0.4915	
h2.Months fr Switch : 1	-0.0702	0.1006	-0.6976	0.4854	
h2.Months fr Switch : 2	-0.1162	0.1022	-1.1370	0.2555	
h2.Months fr Switch : 3	-0.0642	0.1024	-0.6275	0.5304	
h2.Months fr Switch : 4	0.0675	0.1024	0.6590	0.5099	
h2.Months fr Switch : 5	-0.0746	0.1035	-0.7202	0.4714	
h2.Switcher $\times$ Months fr Switch : -5	0.0118	0.1483	0.0798	0.9364	
h2.Switcher $\times$ Months fr Switch : -4	-0.1395	0.1502	-0.9288	0.3530	
h2.Switcher $\times$ Months fr Switch : -3	-0.1202	0.1502	-0.7999	0.4237	
h2.Switcher $\times$ Months fr Switch : -2	-0.1776	0.1753	-1.0130	0.3111	
h2.Switcher $\times$ Months fr Switch : -1	-0.1564	0.1443	-1.0837	0.2785	
h2.Switcher $\times$ Months fr Switch : 0	-0.7588	0.1446	-5.2483	0.0000	***
h2.Switcher $\times$ Months fr Switch : 1	-0.3825	0.1443	-2.6508	0.0080	**
h2.Switcher $\times$ Months fr Switch : 2	-0.3677	0.1457	-2.5240	0.0116	*
h2.Switcher $\times$ Months fr Switch : 3	-0.3593	0.1463	-2.4560	0.0141	*
h2.Switcher $\times$ Months fr Switch : 4	-0.5600	0.1465	-3.8237	0.0001	***
h2.Switcher $\times$ Months fr Switch : 5	-0.4150	0.1475	-2.8145	0.0049	**
Num. Observations	6,870				
Log Likelihood	-11418.08				

Note. \*\*\*p < 0.001, \*\*p < 0.01, \*p < 0.05. The prefix of h1 indicates the estimation of the probability of not-forgetting a repayment (the first component of the model). The prefix of h2 indicates the estimation of latent repayment given not forgetting a repayment (the second component of the model).

Journal of Marketing Research
## Appendix I DETAILS OF EXCESS INTEREST COST SIMULATION

We conducted Monte Carlo simulations to estimate the financial cost from lower repayments among card holders switching to a minimum automatic repayment. We simulate two types of agents. The first type of agents never switch to automatic repayment (Remaining as Non-Auto Cards) while the second type of agents switch to a minimum automatic repayment (Switching to Min-Auto Cards). To resemble real-life use of credit cards, the simulation assumes a steady continuation of purchases and repayments. We use a sample of cards switching to a minimum automatic repayment.

For both types of agents, we simulate their monthly card usages and repayments, using card-month observations of cards switching to minimum automatic repayments during the data period. At each time-step in the simulations, a repayment category is drawn from their actual distributions in card-months with similar card profiles. (Card-months with zero balance was excluded.) The categories include "missed", "minimum" (with £10 buffer for rounding-up), and "full". Repayments in the actual distribution which are neither missed, minimum, nor full category were categorized as their own absolute value (e.g., 50.00, 100.00, 200.00). In the simulation, repayments are not allowed to be greater than a corresponding full balance at the time-step. In drawing the repayment category, we use card-months before switch for Remaining as Non-Auto Cards while we use card-months after switch for Switching to Min-Auto Cards. Thus, in the simulations, Remaining as Non-Auto Cards are repaid as if card holders had not switched to a minimum automatic repayment. In addition, the total purchase amount and the total cash advance amount in card-months with similar card profiles were also drawn from the actual distribution. (Card-months with zero balance was included.). For the purchase and the cash advance amounts, post-switch distribution was used for the both types of agents. A card profile for sampling consists of balance, utilization, and purchase amount in the month. The credit limit, the merchant APR, and the cash APR for initializing the agents were the mean values in the month where card holders in our sample set up minimum automatic repayments (£5,700, 19.5%, and 24.6%, respectively) and were assumed to be constant throughout the simulation. If an agent missed a repayment, a  $\pm 12$  late payment fee was incurred in the next month. If an agent made a cash advance or the utilization rate exceeded 1, a cash advance fee, which is £3 or 3% of the cash advance amount (whichever is greater) and a £12 over-limit fee were also incurred. (The regulated fee levels in the UK were used.)

Each time step, the balance was updated reflecting a repayment, interest based on the merchant APR and the cash APR, new purchases, new cash advance amount, late payment fees, cash advance fee, and over-limit fee. A repayment made in a given month was first allocated to the balance for the cash advance, and then any remaining part was used to repay the balance on purchases. Interest on purchase and cash advances were separately calculated in each month with the merchant APR and the cash APR, respectively. The simulation continued for 24 months. We ran simulations with the mean balance in the month where card holders switched to minimum automatic repayments ( $\pounds$ 1,330.34). We assumed that the whole initial balance was on purchases. The simulated results were averaged and the corresponding confidence intervals were calculated with the bootstrap method (1,000 resamples).

Simulation results are in the main paper section 'FIELD DATA STUDY: AUTOMATIC MINIMUM PAYMENTS', subsection 'Excess Interest Cost Simulations'.

## Appendix J DETAILS OF SIMULATION FOR TOTAL COST ESTIMATE

We also conducted a final simulation estimating what proportion of total interest and fees incurred by all cards is due to minimum automatic repayment. We randomly sampled 10,000 cards from the whole data (excluding cards with a balance transfer but including cards with a zero merchant APR) and extracted 1,943 cards which were repaid by minimum automatic repayment at least once (Some-Min-Auto Cards). In the simulation the Some-Min-Auto Cards were counterfactually repaid over time as if the cards were not switched to minimum automatic repayment: At each time-step in the simulation, the spending amount was drawn from the whole data period of Some-Min-Auto Cards but repayment categories and amounts were drawn from card-months before Some-Min-Auto Cards had a first minimum automatic repayment. The sampling methods are identical to those used in the excess interest cost simulation (see Appendix I). The balance, interest, and fees were then calculated for the month. The simulation continued up to the number of observations of the card in the data.

The simulation results showed that Some-Min-Auto cards could save about 19.8%, 95% CI [10.6%, 27.8%] of total interest and fees if they were repaid as if they did not switch to a minimum automatic repayment. Considering that the proportion of interest and fees for Some-Min-Auto Cards among total interest and fees for all 10,000 cards is about 43%, we estimate that 8.4%, 95% CI [4.5%, 11.8%] of the total interest and fees for all cards is due to minimum automatic repayment.

## Appendix K SUPPLEMENTARY ANALYSIS FOR THE EXPERIMENT

Balance Tests. Table W9 gives the proportion of participants who reported they were card users and the proportion who reported paying last month's credit card bill in full. Proportions were similar across conditions, showing that these measures were balanced over experimental conditions. Logistic regressions show no significant effect of omitting the minimum payment, including the full repayment prompt, or an interaction between (all ps > .20).

	Table W9: Experiment Balance Te	
Condition	Proportion Card Users	Proportion Full Repayers
Control	0.71 [0.64-0.78]	0.52 [0.44–0.61]
Omit Minimum	0.72 [0.65-0.79]	0.51 [0.43-0.60]
Include Prompt	0.71 [0.64–0.77]	0.60 [0.51-0.67]
Omit and Prompt	0.77 [0.70-0.82]	0.62 [0.53-0.69]
Numbers are proportions of participants with 05% confidence intervals		

sts

Numbers are proportions of participants with 95% confidence intervals.

The proportion of card users and the proportion of full repayers was also balanced over those included and excluded from the experiment. The fraction of card users was 0.73 for both included and excluded participants. The fraction of full repayers was 0.59 for those excluded and 0.56 for those included in the experiments. (ps > .50.)

**Repayment distributions.** Figure W11 shows the raw distribution of repayments, contrasting the minimum payment information and full repayment prompt conditions. For the minimum payment information inclusion contrast, the cumulative density function of repayments for exclusion is below that for inclusion, indicating that repayments are higher when the minimum payment information is omitted (Figure W11a). A similar pattern is seen when contrasting full repayment prompt conditions. The cumulative density function of repayments for prompting with a full repayment is below that for not prompting, indicating that repayments are higher when people are prompted to pay in full (Figure W11b).

ersion





Figure W11: Cumulative density functions showing the distribution of repayments. The y-axis is the probability of making *at least* the repayment on the x axis. Ghosted histograms are the corresponding distributions. Dotted lines are the minimum payment amount and the full repayment amount.

**Probability of full and minimum repayments.** Because the distribution of payments had mass close to the minimum and at the full amount, we also ran analyses of the probability of making a full payment and the probability of making a payment at or below the minimum. We present the results from linear probability models for ease of interpretation, again without the non-significant interaction between minimum payment information and full repayment prompt.

Journal of Marketing Research Logistic regressions lead to the same conclusion.

The effect of omitting minimum payment information is to reduce the probability of paying at or below the minimum from .143, 95% CI [.114, .172] to .031, 95% CI [.002, .060]. This can be seen in Figure W11a as the difference in the step in the cumulative density function at the minimum payment amount. This is a significant absolute decrease of .112, 95% CI [.071, .153], t(695) = 5.34, p < .001. The effect of omitting minimum payment information increased the probability of paying in full from .374, 95% CI [.324, .425] to .427, 95% CI [.376, .479]. This is a non-significant absolute increase of .053, 95% CI [-.019, .125], t(696) = 1.444, p = .149. This can be seen in Figure W11a as the difference in the step in the cumulative density function at the full repayment amount.

The effect of including the full payment prompt is to decrease the probability of a minimum payment from .117, 95% CI [.087, .146] to .057, 95% CI [.028, .087]. This is a significant decrease of an absolute .059, 95% CI [.018, .010], t(695) = 2.81, p < .005. The effect of including the full payment prompt is to increase the probability of a full payment from .337, 95% CI [.286, .387] to .465, 95% CI [.414, .517]. This is a significant increase of an absolute .129, 95% CI [.057, .201], t(696) = 3.502, p < .001. These differences can be seen in Figure W11b. The effects of including this full payment prompt is additive to that of omitting minimum payment information: one treatment did not crowd out the other.

reliev Leso